UGC NET 2021 Defence and Strategic Studies

Topic:- 11DSS_A

1) The differentiation between combatant and non-combatant in contemporary conflicts involving terrorists are
ciarfeRil & Arer AdDIcilel Al 3 ALY 3iiz 312 Al Nl 2 -

[Question ID = 1591][Question Description = S2_qSNz_PG_DSS_QO01]
Easy to establish /st 3 fpu Stet aret [Option ID = 6361]

Not worth bothering about/3bt fiar @l &t smageevar oidt [Option ID = 6362]
Useless interpretation/ef =men [Option ID = 6363]

. Often unclear/grr: sruse [Option ID = 6364]

A W N -

Correct Answer :-
® Easy to establish/smimeft 3 fbe Stot aret [Option ID = 6361]

2) SDRF refers to
SDRF @1 aiférgrr & -

[Question ID = 1592][Question Description = S2_qSNz_PG_DSS_Q02]
State Disaster Relief Fund/3ec sz Rcfle ws [Option ID = 6365]

State Disaster relief Force/3ee f3smeez fcfie wisf [Option ID = 6366]

Sub Divisional Response Force/zd f3fdsiorer 3dix wizf [Option ID = 6367]

State Disaster Response Force/3ee fSsirez 32U wif [Option ID = 6368]

A W N -

Correct Answer :-
e State Disaster Relief Fund/3ec f3siez Rcfle ws [Option ID = 6365]

3) 'CORPAT' is a military exercise between India and

'CORPAT" siret 3iiz @ dla oA 3 -

[Question ID = 1593][Question Description = S2_qSNz_PG_DSS_QO03]
Nepal/awrer [Option ID = 6369]

Bangladesh/dsregar [Option ID = 6370]

France/wj=1 [Option ID = 6371]

. Sri Lanka/gffei@r [Option ID = 6372]

AW N =

Correct Answer :-
e Nepal/owrer [Option ID = 6369]

4) LIGO refers to

'LIGO’ @1 sifdrgrer 3 -

[Question ID = 1594][Question Description = S2_qSNz_PG_DSS_Q04]

Laser Interferometer Gravitational-wave Observatory/csR scadefics sjfaeomic - dq sifsszdaest [Option ID = 6373]
Long-range Indian Geological Observation/eiist - 35at 3feRrer fSrilciistiapet sifesredest [Option ID = 6374]

Laser Interferometer Geological Observation/cisR seewisiic frileiistioe sifesacst [Option ID = 6375]

Laser Interspace Gravitational Observatory/esR se3etiI sjfdcorsre sifssracst [Option ID = 6376]

A W N -

Correct Answer :-
® Laser Interferometer Gravitational-wave Observatory/ecsR scabisiie? s|fdeoreie - dq sifssrdest [Option ID = 6373]

[Question ID = 1595][Question Description = S2_qSNz_PG_DSS_QO05]
Armenia-Azerbaijan/smiforn - RSl [Option ID = 6377]

Russia-Ukraine />3 - jra@.«i{Option ID = 6378]

. Ethiopia-Eritrea/seiiftrn - ufdefsn [Option ID = 6379]

. Libya-Tunisia/fetferr - ceiifsrm [Option ID = 6380]

A w N =

Correct Answer :-
® Armenia-Azerbaijan/amiforr - sRse [Option ID = 6377]

6) The river Brahmaputra enters India through

gBIg] ofdl s 3 Y9l wxil 3
[Question ID = 1596][Question Description = S2_qSNz_PG_DSS_QO06]



. Arunachal Pradesh/srsumract ygor 31 [Option ID = 6381]
Bihar/fdsrz 3 [Option ID = 6382]

. Sikkim /fiferaer 3t [Option ID = 6383]

. Assam/srm 3 [Option ID = 6384]

A WN -

Correct Answer :-
e Arunachal Pradesh/smsumaet gger 2t [Option ID = 6381]

7) What is SACCS?
SACCS = 8 ?

[Question ID = 1597][Question Description = S2_qSNz_PG_DSS_Q07]

1. Synergical Aerial Command and Control System/RrmeifSfcret uiRret watis ©s aclel Brear [Option ID = 6385]

2. Surgical Air Command and Control System/ifSferet 3R @atis 85 @t Rreat [Option ID = 6386]

3. Strategic Air Command and Control System/3¢efore wsr @atis Bs wdlel Brest [Option ID = 6387]

4. Strategic Automated Command and Control System/¢efSim siiclifes @wais s agler RBrea [Option ID = 6388]

Correct Answer :-
e Synergical Aerial Command and Control System/Rwifsimet ei¥icl @wdtis Us ol RBrest [Option ID = 6385]

8) Which country initiated the International Solar Alliance?
iSRRI 1R sToderel bl 9rFaid fopar o1 ol & ?

[Question ID = 1598][Question Description = S2_qSNz_PG_DSS_QO08]

1. U.K./g@. [Option ID = 6389]
2. India/emza [Option ID = 6390]
3. US/gea [Option ID = 6391]

4. France/wia [Option ID = 6392]

Correct Answer :-
e U.K./g@. [Option ID = 6389]

9) Identify the country that pulled-out of climate change negotiations

Stetary, uf¥acdor arafsil A R DY 3IcIPT B2 ol aICHr A S -

[Question ID = 1599][Question Description = S2_qSNz_PG_DSS_Q09]

1. U.S.A./3, v w [Option ID = 6393]
2. China/dlar [Option ID = 6394]

3. India/#ma [Option ID = 6395]

4. Australia/siisefern [Option ID = 6396]

Correct Answer :-
e U.S.A./3g, wa w [Option ID = 6393]

10) According to Military Balance 2020 published by IISS, India's defence spending in 2019 was

ATEIMERATA FRI Yop1fdra fiferedt Jciar 2020 & iR, 2019 3 sira b1 281 < fopdon o @

[Question ID = 1600][Question Description = S2_qSNz_PG_DSS_Q10]
1. 60.5 US $ bn/60.5 Riférmor swisit sierz [Option 1D = 6397]
2. 65.5US $ bn/65.5 Riferret seisidt sz [Option ID = 6398]
3. 55.5 US $ bn/55.5 Riférrer semidht st [Option ID = 6399]
4. 80.5 US $ bn/80.5 faferrer swridt s [Option ID = 6400]

Correct Answer :-
® 60.5 US $ bn/60.5 fRferrer swisldt sz [Option ID = 6397]

11) Identify the grouping of states in international economic diplomacy representing the global south
siaefedr snffes aeofifer 3 Affaa cfér ot yferforfirra ot arar 39l & s 6t usare &3 :

[Question ID = 1601][Question Description = S2_qSNz_PG_DSS_Q11]
1. G99

[Option ID = 6401]
2. G20

[Option ID = 6402]
3. G77

[Option ID = 6403]
4. G7

[Option ID = 6404]



Correct Answer :-
e G99

[Option ID = 6401]

12) ldentify the machine that Germany used to encrypt their messages during the World War

3 #9flar bl usarar HIfsre BRI sl fra g @ Sikret 3ol Sl @ efsaroret i YIS w3 o :
[Question ID = 1602][Question Description = S2_qSNz_PG_DSS_Q12]

1. Goring machine/shfsr aefiet [Option ID = 6405]

2. Enigma machine/ufowar sigfier [Option ID = 6406]

3. Baltzmann machine/dlecsmta aiofier [Option ID = 6407]
4. Haber machine/2w= awofier [Option ID = 6408]

Correct Answer :-

e Goring machine/snf¥st swofior [Option ID = 6405]

13) Who among the following made the statement that "safety will be the sturdy child of terror and survival the twin
brother of annihilation™?

Iz erol foratfeilRaa 3 A vt 3 "Jgeem, dd 1 Jeg i PN 3R Jasifaar, femer o gjsar srs”

[Question ID = 1603][Question Description = S2_qSNz_PG_DSS_Q13]
1. Franklin Delano Roosevelt/w @ fetorScirsl Fordee [Option ID = 6409]

2. Winston Churchill/fizcer afefer [Option ID = 6410]

3. Adolf Hitler/uwsfew fdeerz [Option ID = 6411]

4. Lyndon B Johnson/feiset dt Siforior [Option ID = 6412]

Correct Answer :-
e Franklin Delano Roosevelt/Bawfetarserolt Soidee [Option ID = 6409]

14) "Sum total of ideas, conditioned emotional responses and patterns of habitual behavior that members of a national
strategic community have acquired through instruction or imitation and share with each other with regard to nuclear
strategy” is considered as

""URAIY WIoilfer @ Fder A R, srodmfera Mdolica® YegaRl 3R srRIRil rasr & ygferil o1 aet Mot ol IsdRn ArAle AR D AgHAl
SRI fo1S91 AT 3IGI1RVI 3R U ¢} D AT IR - AN @l A 3ifsia siar 3" forgsifciiRaa 3 A v 3u 3 Alel Sier 3 :

[Question ID = 1604][Question Description = S2_qSNz_PG_DSS_Q14]
1. Strategic Stability /a3 Rezar

[Option ID = 6413]
2. Strategic Ambiguity/3mef¥® sRusedr

[Option ID = 6414]
3. Strategic Response/3Imwifs® Y=IR

[Option ID = 6415]
4. Strategic Culture/mf¥® Izt

[Option ID = 6416]

Correct Answer :-
e Strategic Stability/2maf¥e® Ferar

[Option ID = 6413]
15) If technology denial regimes can be considered as an example of 'science diplomacy’, it would fall under the category
of

Aafe GienfBrbl Sal 3 seIbrR B0l Hl Iazen ol 'fsiret Hdell Geolifer’ o1 3c1E2vT A6l S, ql —aE Bld - 2l Juft & siasta smosht :

[Question ID = 1605][Question Description = S2_qSNz_PG_DSS_Q15]
Cooperative diplomacy/3epft oesfifer [Option ID = 6417]

Cohesive diplomacy/3Riera @gofifer [Option ID = 6418]

Coercive diplomacy/smearaRt aesfifer [Option ID = 6419]

Cold diplomacy/ ofia @esfifer [Option ID = 6420]

AW N =

Correct Answer :-
e Cooperative diplomacy /=il @wesfifer [Option ID = 6417]

16) Bay of Pigs incident is associated with
'S sife e’ @cen fordor 3 A oA dAag 3 :
[Question ID = 1606][Question Description = S2_qSNz_PG_DSS_Q16]



. Panama/uaimer [Option ID = 6421]

. Cuba/aan [Option ID = 6422]

. Mexico/dfermt [Option ID = 6423]

. Columbia/wmicifden [Option ID = 6424]

A W N -

Correct Answer :-
® Panama/uamgn [Option ID = 6421]

17) Which one of the following is not the task of International NGO's dedicated to reducing armed conflicts?

forgatfeiRaa 3 A Pl - AT AR Hadl DI BH B0l D g JaAftia iR 31 - IRPE Js1o0il (NGOS) @1 BRI ordl &

[Question ID = 1607][Question Description = S2_qSNz_PG_DSS_Q17]
. Advocacy/awmreia [Option ID = 6425]

. Dialogue/zarg [Option ID = 6426]

. Enforcement/yadst [Option ID = 6427]

. Mediation/ae=rzerar [Option ID = 6428]

A W N -

Correct Answer :-
® Advocacy/awmrerd [Option ID = 6425]

18) Which one of the following is an AKULA class submarine?

forgarferi¥aa 3 A ®let - 21 sragerr (AKULA) 9)uft &b uersedl 3 :

[Question ID = 1608][Question Description = S2_qSNz_PG_DSS_Q18]
INS Chakra/asms wet w1 aag [Option ID = 6429]

INS Sindhughosh /3 wet w2t Riggeiw [Option ID = 6430]

INS Shankush /3 et w21 Jiqger [Option ID = 6431]

INS Kalvari/ams wer w1 @erarst [Option ID = 6432]

AW N =

Correct Answer :-
® NS Chakra/ams vet w1 aq [Option ID = 6429]

19) One of the fundamental assumptions of Stability-Instability Paradox is
Rrerar - sif¥erdar RriemirRt &l ve Hifers arear aon 3 ?

[Question ID = 1609][Question Description = S2_qSNz_PG_DSS_Q19]

1. As the likelihood of nuclear conflict declines, the risk of sub-conventional war increases/sia usy] e I ATGI Heedl & Al SURFREPK g DI SR TG
s 3 [Option ID = 6433]

2. As the risk of nuclear conflict increases, the likelihood of sub-conventional war decreases/sa uzsyy e @I SR 96l & dl 3U WREK g Pl ANIdoel fdc
st & [Option ID = 6434]

3. As the risk of nuclear conflict increases, the likelihood of conventional war also increases/sra uwanyj e oI SR TGl & dl WRBKH g I Asndon ot a6
st & [Option ID = 6435]

4. As the likelihood of nuclear conflict declines, the risk of conventional war increases/sra uemy] e &t dsrdel et 3 Al WWRPIA Y DI SR d6 SIdT 3
[Option ID = 6436]

Correct Answer :-

® As the likelihood of nuclear conflict declines, the risk of sub-conventional war increases/sta iy e bl J9idol derdl & Al SURFRBP Y DI SR I6
sier & [Option ID = 6433]

20) USS Cole bombing took place in

JUATA DIt HAR Dol g8 off :

[Question ID = 1610][Question Description = S2_qSNz_PG_DSS_Q20]
. Sudan/3smet [Option ID = 6437]

. Leiden/emssa [Option ID = 6438]

. Copenhagen/m®eizatat [Option ID = 6439]

. Aden/u3ar [Option ID = 6440]

A W N -

Correct Answer :-
e Sudan/3stel [Option ID = 6437]

21) Expeditionary Force refers to
sifSrrot stet (Expeditionary Force) oot 3ref 3 :

[Question ID = 1611][Question Description = S2_qSNz_PG_DSS_Q21]

. Para Military Force/srg 3ifora act [Option ID = 6441]

. Special Commando Police Force that fights insurgents/fadu waist yfert act sit 3sjarfeRil 3 cisar 3 [Option ID = 6442]

. Armed Force meant to accomplish specific objective in foreign country/faGer 3 fafore 339 @1 yra Bl @ fere cifdi A9 act [Option ID = 6443]
. Auxillary Force/3srib act [Option ID = 6444]

A w N =

Correct Answer :-
e Para Military Force/arg 3iforas act [Option ID = 6441]

22) Deployment of Sonobuoy is useful in



HlotledarT &b dorrdl forgsifeiRaa 3 2 fprd Su=ieh 3 :

[Question ID = 1612][Question Description = S2_qSNz_PG_DSS_Q22]
1. Aerial warfare/sar$ gg [Option ID = 6445]

2. Anti-submarine warfare/usrgsdt el I [Option ID = 6446]

3. Guerrilla warfare/smmR (Guerilla) gg [Option ID = 6447]

4. Information warfare/3@on gg [Option ID = 6448]

Correct Answer :-
e Aerial warfare/zars gg [Option ID = 6445]

23) The first batch of Rafale fighter jets are to be inducted into which squadron of IAF?

AWl TSKD, [Erell @ usel da Pl HRARI R A6l D Dlol - A FadrSel 3 onfdrel fep=m srm 3 ?
[Question ID = 1613][Question Description = S2_qSNz_PG_DSS_Q23]

. Squadron 17 - Golden Arrows/>aarset 17 - siicsat ¥3st [Option ID = 6449]
Squadron 4 - Tigers/¥qarsd 4 - esert [Option ID = 6450]

Squadron 6 - Cobras/zaarser 6 - @erst [Option ID = 6451]

Squadron 52 - Dragons/3darsat 52 - Sgtea [Option ID = 6452]

A wWw N -

Correct Answer :-

e Squadron 17 - Golden Arrows/¥aarset 17 - sliesal &3at [Option ID = 6449]

24) Which company has manufactured and delivered the booster segment for Gaganyan Launch Vehicle?
forgatferi¥aa 3 A ®lel - 2l DUl of SPIeRIe YSIuvT Ald d {1 ez AsEic @i faferaivr siiz smgfef &f 3?7

[Question ID = 1614][Question Description = S2_qSNz_PG_DSS_Q24]
1. Godrej Aerospace/siig¥st B3R [Option ID = 6453]

2. Hindustan Aeronautics Limited/fdsgarer vsrisiifeast feifdies [Option ID = 6454]

3. Larsen and Toubro/eR3et ©s cqi [Option ID = 6455]

4. Tata Projects/erer grotact [Option ID = 6456]

Correct Answer :-

® Godrej Aerospace/siig¥sl B3R [Option ID = 6453]

25) The term coined by the American political scientist Graham T. Allison to describe an apparent tendency towards war
when an emerging power threatens to displace an existing great power as the international hegemon is known as

3R] Isrelfer fosioll spea &. vl grRI vl el g3 91ftp A siaRIsERT siferafer @ Fu d el disier ssIIfth I FeIu SOl & A D
WA Jg; bl Tuse IvIael b1 afdtfa wor & fere Jiora ores = 3 :

[Question ID = 1615][Question Description = S2_qSNz_PG_DSS_Q25]

1. The Web Trap/f& da Su [Option ID = 6457]

2. The Booby Trap/f& gdt gu [Option ID = 6458]

3. The Honey Trap/f& soft u [Option ID = 6459]

4. The Thucydides Trap/qzfisss gu [Option ID = 6460]

Correct Answer :-
e The Web Trap/f& da u [Option ID = 6457]

26) The term 'November Criminals’ is associated with
‘stasaz fpfdretcat’ forgor 3 A b dag 3 ©

[Question ID = 1616][Question Description = S2_qSNz_PG_DSS_Q26]
1. Bolsheviks/dcaifea

[Option ID = 6461]
2. Socialists, Catholics and Democrats/herfereczt, denferat iz SHB A

[Option ID = 6462]
3. Nazis/amsit

[Option ID = 6463]
4. Jews/usdt

[Option ID = 6464]
Correct Answer :-
® Bolsheviks/acafaa

[Option ID = 6461]



27) Identify the correct sequence of three major phases while planning for disaster management
3MUGI Yeierol o fere ANsTol dolic AR cfiol Ygia arvll & A8l Gat &bl usdre oo :

[Question ID = 1617][Question Description = S2_qSNz_PG_DSS_Q27]

Preparation, Response and Recovery/&=m3}, yferfepan aiiz mjcermt (Recovery) [Option ID = 6465]
Evacuation, Rebuilding and Perception/formrit (Evacuating) getfofafur iz smadlersr [Option ID = 6466]
Planning, Evacuation and Recovery/ziismet, forprit siiz m@jcerst [Option ID = 6467]

Planning, Preparation and Perception/=isier, iRt sz sradiersr [Option ID = 6468]

A W N -

Correct Answer :-

® Preparation, Response and Recovery/d=m3, yferfpen siie 2m9gcenmst (Recovery) [Option ID = 6465]

28) A boundary line was drawn after the survey of the Aksai Chin Region by the Survey of India during the British rule.
What is the name of that line?

ffeor ot & SiRret MIRA AIGIVT GRI GATS ol i & AISIVT B UK U AT 3T Fol$ 31 I 3T DI ol a7 3 ?

[Question ID = 1618][Question Description = S2_qSNz_PG_DSS_Q28]
. McMahon Line /3l sliset 3t [Option ID = 6469]

. Robert Line/zad 3t [Option ID = 6470]

. Johnson Line/siforier 32a1 [Option ID = 6471]

. Mannerheim Line/derersa 3 [Option ID = 6472]

A w N =

Correct Answer :-
® McMahon Line/dta atgat 3 [Option ID = 6469]

29) Which of the following statements is correct with regard to the traditional concept of national security?

forgotferRaa 31 3 Plet -AT Berel AU F2gN Bl USURPIA aLIRvn & Haer i 38 3 ?

[Question ID = 1619][Question Description = S2_qSNz_PG_DSS_Q29]

1. Focuses on territorial integrity and sovereignty/ &I vaper siiz 2iyggear w2 dfga [Option ID = 6473]

2. Deals with the nexus between conflict and development/=ie iz fdrRI @ dfa sieaRizese 3 forean [Option ID = 6474]

3. A condition in which every citizen is free from political oppression and threats/v® b=f Reftt SrREl yRIo ompIiid skl 3cdise sz Wi 3 3 al [Option
ID = 6475]

4. A situation in which the focus is on the survival and livelihood of people/u® =it Rerfer SREI clisll &I StRSffd 3 sisiifde! w et Bfga &t [Option ID =
6476]

Correct Answer :-
® Focuses on territorial integrity and sovereignty/gidfizr v iR 2dggiar w dfga [Option ID = 6473]

30) Which political group is effectively in control of Gaza Strip?
TG U€l 3 Blel - 3 IAslolicid g @I arafde foriqur 3 ?

[Question ID = 1620][Question Description = S2_qSNz_PG_DSS_Q30]
Palestine Authority/fferecdier yiféraszur [Option ID = 6477]

Hizbollah/f&sigeets [Option ID = 6478]

Hamas /st [Option ID = 6479]

Palestine Liberation Organization/fiferecier fergeret smstemssiorer [Option 1D = 6480]

A wWw N -

Correct Answer :-

e Palestine Authority/fbfredfior giféraszor [Option 1D = 6477]

31) Operation Vanilla was carried out by the Indian Navy to provide humanitarian and disaster relief to which cyclone
affected country?

SIIRCARI GIRIo GRI fordotfcrRad 3 A Dol - A TAId YHIfId S91I DI ATGIdRI 3112 UG Asd YGIel Dol 3¢ TUIIGT Toflell TACTRI SRIT AT ©

[Question ID = 1621][Question Description = S2_qSNz_PG_DSS_Q31]
. Seychelles/3@c=t [Option ID = 6481]

. Madagascar/#spr®r [Option ID = 6482]

. Mauritius/aistert [Option ID = 6483]

. Maldives/arerdta [Option ID = 6484]

A wWw N =

Correct Answer :-
® Seychelles/3wca [Option ID = 6481]

32) Which long standing US policy on Israel-Palestine conflict changed under the Presidency of Donald Trump in 2017?
2017 3 Slolics ¢u @ Usgufel PRIGIC D idsid ssRRId - fbferdla Jad @ Jdder 3 sErRib! & @ida - A Slafafire sfifer aga s ?

[Question ID = 1622][Question Description = S2_qSNz_PG_DSS_Q32]

. Recognition of Jerusalem as the capital city of Israel/Sesc@ @1 soRRIcT Pl Istenoll & Fu 3 e Soir [Option ID = 6485]
. Recognition of Palestine as a Sovereign State/fbferzdler ol v Aye] o1 D Fu 3t e ot [Option ID = 6486]

. Withdrawal of the U.S. role in the conflict/s e 9t spRi@r dt 9ffarmt A won [Option ID = 6487]

. Recognizing Israeli settlements in West Bank and Gaza/dzc d siie smei 3t soRRIch st @l sieerar Sanr [Option ID = 6488]

A W N -



Correct Answer :-
® Recognition of Jerusalem as the capital city of Israel/Srsictt @1 soRRICT Pl Iskenst & U ¥ areIar ot [Option ID = 6485]

33) Chabahar port is situated in which state of Iran?

AEER Uddol $el D b s & RBera 3 :

[Question ID = 1623][Question Description = S2_qSNz_PG_DSS_Q33]
Fars/wrat [Option ID = 6489]

South Khorasan/2m3er xarier [Option ID = 6490]

Kerman/sfor [Option ID = 6491]

Sistan and Baluchestan /Rt siiz acyferzdret [Option ID = 6492]

A WN -

Correct Answer :-
® Fars/wr3 [Option ID = 6489]

34) Which South American country is the largest supplier of crude oil to India?

forgorferiRaca 3 3 dlol - AT i3l PRIBT Sor HIRA DI D el PI AR I3T 3Yfeiapdi 3 :

[Question ID = 1624][Question Description = S2_qSNz_PG_DSS_Q34]
. Brazil/ggsiter [Option ID = 6493]

. Venezuela/dargeen [Option ID = 6494]

. Colombia/mlcifd=m [Option ID = 6495]

. Ecuador/saasiz [Option ID = 6496]

A W N -

Correct Answer :-
e Brazil/gmfier [Option ID = 6493]

35) India is in the process of acquiring the S-400 missile defence system from which country?

31Rd forotferRaa 3 A ®iot - A 391 A S - 400 RIS 28 Yol yra w2or &t yfdpam 3 & ?

[Question ID = 1625][Question Description = S2_qSNz_PG_DSS_Q35]
1. Russia/za [Option ID = 6497]

2. USA/swisior [Option ID = 6498]

3. lIsrael/ssrrIc [Option ID = 6499]

4. France/wia [Option ID = 6500]

Correct Answer :-
e Russia/1 [Option ID = 6497]

36) After the 1962 war, which Indian Prime Minister was the first to visit China?

1962 & Jgg D dIc, 3RA B b Yemewich o AR usd el @I Sk foper ?

[Question ID = 1626][Question Description = S2_qSNz_PG_DSS_Q36]
. Indira Gandhi/sfer sifelt [Option ID = 6501]

. Atal Bihari Vajpayee/sice faert amirft [Option ID = 6502]

. Rajiv Gandhi/amsfta aifeft [Option ID = 6503]

. Lal Bahadur Shastri/emet gaigz 9zt [Option ID = 6504]

A WN -

Correct Answer :-
o [ndira Gandhi/sfgar siitft [Option ID = 6501]

37) Which among the following is true about the RAND corporation?

35 (RAND) 1@:iier @ @ 3 forgotfciiRaa 3 A ®iol -AT Dol AL & ?

[Question ID = 1627][Question Description = S2_qSNz_PG_DSS_Q37]

1. It is a US government organisation/s g A5 JRDR @I Aoroel & [Option ID = 6505]

2. It conducts research only on the issues related to US security /s dact b AT (J,0A.) DI e A Adfeid #Awicl D ider sigpitnel @l & [Option ID = 6506]

3. Its research and analysis address issues that impact people around the world including security, health, education, sustainability, growth, and
development/ sl sigRitiel Bd AUl fPasR @ 3ol AP DI SAAAL & PRI I8, Fares, e, JAuvike, Aqly vd iRt © s onfdet & [Option ID = 6507]

4. Its research and analysis address issues related to defence and security/s@r soRitnet vd feauur 28 vd JRen Adel smrcl ot sxaar & [Option ID = 6508]

Correct Answer :-
e |t is a US government organisation/s RJb A JRDR @I Addiool 3 [Option ID = 6505]

38) Wakhan corridor is situated in

dRdrel DS wal f¥era 8 ¢



[Question ID = 1628][Question Description = S2_qSNz_PG_DSS_Q38]
Herat Province (Afghanistan)/aa qifdeet (smwenfordmet) [Option ID = 6509]
Khyber-Pakhtunkhwa (Pakistan)/<ds? - uzegerear (urfdsdrer) [Option ID = 6510]
Badakhshan Province (Afghanistan)/scxa=iret Qifdeat (smwenfordmet) [Option ID = 6511]
Gilgit-Baltistan (Pakistan)/fBrcifdrT - arfécadrer (uifdsearer) [Option ID = 6512]

A W N -

Correct Answer :-
® Herat Province (Afghanistan)/sa Qifde=t (smenforart) [Option ID = 6509]

39) Which among the following UN conferences on climate change was held in December, 2019?

forgotferi¥aa 3 A Dol - AT Yol. (IYTP ASE) D SIerdry Uldddel Adel Addicrol ez, 2019 3 smRNfSEa g3 ?

[Question ID = 1629][Question Description = S2_qSNz_PG_DSS_Q39]
1. Basel convention/d3et aiférzerr [Option ID = 6513]

2. Stockholm convention/cimala sifdrierr [Option ID = 6514]

3. COP 25/ - 25 [Option ID = 6515]

4. Rotterdam convention/3fe33a aifdirwrr [Option ID = 6516]

Correct Answer :-
e Basel convention/d3e aifdrerr [Option ID = 6513]

40) The term Mutual Assured Destruction was coined by
'RIG3ICT RIS 3I¢a9lel uc Pl vl yferuiiea fopam e -

[Question ID = 1630][Question Description = S2_qSNz_PG_DSS_Q40]
John F. Kennedy/stiat ew. @orst [Option ID = 6517]

John Foster Duller/Sifor wizez scri [Option ID = 6518]

Donald Brennen/steiies Jatat [Option ID = 6519]

John Kenneth Galbraith/siier d@oter sterder [Option ID = 6520]

AW N =

Correct Answer :-
e John F. Kennedy/sifel uw. dotst [Option ID = 6517]

41) Which of the following statements are true for Hand in Hand, 2019, a Joint Military Excercise?
A. India and Japan participated in the exercise

B. India and China participated in the exercise

C. It took place at Umrai (Meghalya)

D. The theme of the exercise was counter-terrorism under UN mandate

E. Training on high mountain regions

Choose the correct answer from the options given below:

33 30l 83, UMD AYTD o RIRA 3 -

A. sied 3i1R SITUTeT of 3 3IIRART 3 HPT ferI

B. 1R iR fioT of =1 3IRART I BT ferm

C. Iz 33ART IR (Jarcr) 3 o srn

D. 331 13RI BT I IYH A, D ARSI D 3iaelda sidwars - Aeht 3

E. srp1 gfdrgrur it uda gorIl u= aiar 3

il fou s1u fraseul 3 A & 3R BT w6l HIfSIE ©

[Question ID = 1631][Question Description = S2_qSNz_PG_DSS_Q41]

A, C and D only/@act A, C aiiz D [Option ID = 6521]
B, C and D only/aaet B, C 3iiz D [Option ID = 6522]
C, D and E only/@aa C, D siiz E [Option ID = 6523]
A, B and C only/d@act A, B sfiiz C [Option ID = 6524]

A W N -

Correct Answer :-
e A, Cand D only/@act A, C siiz D [Option ID = 6521]

42) The Indian Ocean Rim Association (IORA) aims towards
A. Trade Facilitation

B. IORA has 28 member states and 10 dialogue partners

C. Enhancing social development of IORA

D. Enhancing security and protection from piracy



E. Holding joint military exercises

Choose the correct answer from the options given below:

$f3%r01 3NIRrIo1 feat wRiIRueret (IORA) @1 3293 8 -

A. SIMUR ®I Fclimor

B. srg.silamR.u. @ 28 g g, 3 3R 10 JHart sipficr &

C. 3r$ 3l 3R © @ AR PRI @I Jatler

D. e aGTell aer A Sdedl A g1

E. Jyep I 31RART DI RISTT

ofi o s1u faseal & A A8 IR BT Il BT :

[Question ID = 1632][Question Description = S2_qSNz_PG_DSS_Q42]

A, B and C only/d@act A, B siiz C [Option ID = 6525]
B, C and D only/@aet B, C siiz D [Option ID = 6526]
B, D and E only/dsae B, D siiz E [Option ID = 6527]
A, C and D only/daet A, C siiz D [Option ID = 6528]

A W N -

Correct Answer :-
e A, Band C only/dac A, B siiz C [Option ID = 6525]

43) Consider the following statements regarding the Organization of Islamic Cooperation (OIC)
A. OIC has accepted that J&K belongs to Pakistan

B. India has been given the observer status by OIC

C. OIC is the second largest intergovernmental organization

D. India recently made its maiden appearance at the foreign ministers meeting of OIC

E. United Nations has observer status of OIC

Choose the correct answer from the options given below:

IR ABNPT B Iorooll (3N3rEM) & Hder I forerfeiRaa werll u? faar &3 :

A. 3 3 2l of aIrer R 3 1 S99, vd w93k wiftprArer @I 3feT 3

B. 3 srf 3l GRI MRd @1 widgie @I <ol far srRm 3

C. 31 3rr# 3l IR AT I3T 3R - IRPR AHoIoal 3 Sl PRI SPIA D AP 3arst @I yfafoiferra war 3
D. s1d o areT & 3 N3l B faSor dfeRil & Avdcror A usch ar et forn 3

E. 3iyges reg & ura 3emEdl & wriderd o1 csif &

il feu aru el 3 A A8 IR D1 WRIel B :

[Question ID = 1633][Question Description = S2_qSNz_PG_DSS_Q43]

. C, D and E only/dae C, D siiz E [Option ID = 6529]
. B, Cand D only/asae B, C siiz D [Option ID = 6530]
. A, B and D only/daer A, B iz D [Option ID = 6531]
. A, Cand D only/dsaet A, C siiz D [Option ID = 6532]

A w N =

Correct Answer :-
e C,DandE only/a@ae C, D aiiz E [Option ID = 6529]

44) Objectives of Cooperative Threat Reduction are pursued through programs like
A. Chemical weapons elimination program

B. Strategic Arms elimination program

C. Nuclear weapons storage security program

D. Biological weapons storage safety program

Choose the correct answer from the options given below:

PRIt Je Rsaorar & 329l Bl 5o DrRIaH! & A A g1 v S 3 -
A. JRRIford IR odctol DrRIgH (Dfdrwa diuca cfeiforere o)

B. ¥t 3= ufeifdroiorst Qispar
C. IfIerRR diuc:t ¥eRs Riaygf¥él gioyrar



D. sridifSipa diusa 3RS AW Goper
ol f2u a1 faaseul 3 A I8 IR D1 TR BRI ¢
[Question ID = 1634][Question Description = S2_qSNz_PG_DSS_Q44]

A and B only/d3act A siiz B [Option ID = 6533]

A, B and C only/dact A, B afiz C [Option ID = 6534]

A, C and D only/daet A, C siiz D [Option ID = 6535]
A, B, C and D only/A, B, C siiz D [Option ID = 6536]

A W N -

Correct Answer :-
e Aand B only/@aet A 3iiz B [Option ID = 6533]

45) Giulio Douhet, in his work The Command of the Air has written about
A. Auxiliary Aviation

B. Aerial Defence

C. The Aerial Battle

D. ODDA Loop

E. The Aerial Field as the Decisive Field

Choose the correct answer from the options given below:

Brsferil Side of siucil fbdrd ‘s wais 3iie ¢ wR' foad Ader 3 fordt 3 -

A. siffSsiferadl efaugrer

B. uf¥e 3w

C. © uf¥er dea

D.siidistuqu

E. g uf¥ra bics ¥s1 ¢ 3arsf¥er blos

oifd fu a1 frpeul 3 3 Bl IR DI RIS DIfSTU :

[Question ID = 1635][Question Description = S2_qSNz_PG_DSS_Q45]

B, C, D and E only/dact B, C, D siiz E [Option ID = 6537]
A, B, C and E only/@aa A, B, C siiz E [Option ID = 6538]
B, C and E only/aact B, C siiz E [Option ID = 6539]

C and D only/daet C siiz D [Option ID = 6540]

AW N =

Correct Answer :-
e B, C, Dand E only/daea B, C, D aiiz E [Option ID = 6537]

46) The term 'frontier’ signifies:

A. A demarcated boundary between countries

B. A boundary where countries are hostile against each other
C. A boundary where fencing is mandatory

D. A boundary between territorial units

Choose the correct answer from the options given below:

‘B feR" 9re w1 31k B ¢

A. 39if & &t siftoa Hamadf 8iq

B. uw fiar SiEf $91 v - G D fawg &3 a1 S 8

C. v o RrRrdl dRredl siforart 8t

D. yrefore sl @ dfa ve fermacdt giqg

it fou s1u fRrpeul 3 A & IR BT a6l HIfSIE ©

[Question ID = 1636][Question Description = S2_qSNz_PG_DSS_Q46]

1. Aand D only/a@aet A siiz D [Option ID = 6541]
2. A, Band D only/dde A, B siiz D [Option ID = 6542]
3. Band C only/@act B siiz C [Option ID = 6543]
4. Cand D only/daer C siiz D [Option ID = 6544]

Correct Answer :-
e Aand D only/da>aet A siiz D [Option ID = 6541]



47) Which of the following Indian states share an International Land Border with Myanmar?
A. Arunachal Pradesh

B. Nagaland

C. Manipur

D. Mizoram

E. Tripura

Choose the correct answer from the options given below:

forgotferRaa sicilRr 2rsRil 3 A Blol - Blol RAR T AT RIS 91 - e e w2 3 ?
A. 3r5vuTRIcT ygor

B. aiercis

C. afdrgz

D. BrEiRa

E. ferger

sifd fu a1 frapeul 3 3 Al IR DI RIS DI ©

[Question ID = 1637][Question Description = S2_qSNz_PG_DSS_Q47]

1. A, B and C only/dact A, B siiz C [Option ID = 6545]
2. A, B, Cand E only/dact A, B, C 3iiz E [Option ID = 6546]
3. A, B, Cand D only/dsaet A, B, C siiz D [Option ID = 6547]
4. A, B and E only/dqct A, B siiz E [Option ID = 6548]

Correct Answer :-
® A, Band C only/aact A, B 3iiz C [Option ID = 6545]

48) Economic warfare includes

A. Imposing economic sanctions on the target country

B. Levying heavy taxes on the goods of the target country
C. Granting economic aid to the target country

D. Providing economic concessions to the target country

Choose the correct answer from the options given below:

snf¥fes gy o onfdrer 3 :

A. aféra Sor uz snffe gferder cemon

B. afdra gor &t BRI uz urdt w2 w1 sif2RIuvr

C. cféra o1 ot 3nfRid Ics Yglel wen

D. afdra o1 &I 3nfdicd Yicaareol Iucteel w6l

il fou s1u frapeul 3 2 & IR BT w6l HIfSIE ©

[Question ID = 1638][Question Description = S2_qSNz_PG_DSS_Q48]

1. A, B and D only/dact A, B siiz D [Option ID = 6549]
2. B and D only/dae B sfiz D [Option ID = 6550]
3. Cand D only/aae C siiz D [Option ID = 6551]
4. Aand B only/dact A siiz B [Option ID = 6552]

Correct Answer :-
® A, Band D only/dact A, B 3iiz D [Option ID = 6549]

49) In international relations, the term Security Dilemma:

A. refers to a situation in which actions of one state can lead to other state responding in a similar measure like increasing
military strength etc

B. is also known as the spiral model
C. is a term coined by Robert Jervis
D. is considered obsolete today

Choose the correct answer from the options given below:



sicrisd Fdel #, Jzem FHorr (Rrarafect f3emm) :

A. orec o1 iy B - ' e DI BRard A g e o' A3Ter 3redf I o orftp 3N B TG YR &
B. rursze diser @ »u J Siroll SE

C. 3= sfda gr1 yfeuaiféa o 916

D. sirsidbet ctol 3 ofdl 3

il feu s1u fareedl 3 A A8 IR D1 TRIel B :

[Question ID = 1639][Question Description = S2_qSNz_PG_DSS_Q49]

1. Aand B only/dact A siiz B [Option ID = 6553]

2. A, B and C only/dbact A, B 3iiz C [Option ID = 6554]
3. A, B, Cand D/A, B, C 3iiz D [Option ID = 6555]

4. A, Cand D only/daa A, C siiz D [Option ID = 6556]

Correct Answer :-
e A and B only/daer A 3iiz B [Option ID = 6553]

50) Indian Navy has the responsibility of performing a
A. Military role

B. Diplomatic role

C. Constabulary role

D. Benign role

Choose the correct answer from the options given below:

RCARI Giiioll & urA forafciRaa oriforsurcer @1 IazciRica 3 :

A. o st

B. weofifiras yfirot

C. yfera & gyfdrpt

D. faireft 6t sifdror

il fou o1 frpeul 3 A & IR BT a6l HIfSIE ¢

[Question ID = 1640][Question Description = S2_qSNz_PG_DSS_Q50]

A and B only/dact A siiz B [Option ID = 6557]

A, B and D only/d@aet A, B aiiz D [Option ID = 6558]
B, C and D only/d@act B, C siiz D [Option ID = 6559]
A, B, Cand D/A, B, C iz D [Option ID = 6560]

AN w N -

Correct Answer :-
e A and B only/daer A siiz B [Option ID = 6557]

51) Gulf of Mannar:

A. is a Biosphere reserve

B. is where endangered marine species are found

C. was declared a Marine National Park

D. was declared a heritage site by UNESCO

E. is where a marine archaeological outpost is located

Choose the correct answer from the options given below:

ool bl WSl a=ir 3 ©

A. 31a - R &g

B. w18t faqagrr Add) yenferit uré siedt 3

C. 331 S} I Ui A fop=n s e

D. 331 Jole! oI fRRRIA e diftia fipar sk

E. &t 91d} geraea smseuRe fea 3

il fou s1u fyeseul 3 A & IR BT a6l HIfSIE ©

[Question ID = 1641][Question Description = S2_qSNz_PG_DSS_Q51]



A, B and C only/dact A, B afiz C [Option ID = 6561]

A, B, D and E only/adqact A, B, D 3iiz E [Option ID = 6562]
A, B, C and D only/aact A B, C siiz D [Option ID = 6563]
A, B, C and E only/dact A, B, C 3iiz E [Option ID = 6564]

3]

A W N -

3]

Correct Answer :-
e A, Band C only/aac A, B iz C [Option ID = 6561]

52) Some of the game-theoretical models used in International Relations are
A. Game of Chicken

B. Prisoner's Dilemma

C. Stag Hunt

D. Delphi Method

Choose the correct answer from the options given below:

siefedir 2idel 3 gy @8 s Rigia @ #sa 3 :

A. 3 siiw Rrasor

B. fiystord ssferen

C. 318

D. 3cfl ders .

il fou s1u freseul 3 2 A IR BT a6l HIfSIE ©

[Question ID = 1642][Question Description = S2_qSNz_PG_DSS_Q52]

A, B and C only/a@act A, B sfiz C [Option ID = 6565]
A, B and D only/d@act A, B sfiz D [Option ID = 6566]
A, C and D only/asaet A, C siiz D [Option ID = 6567]
A, B, Cand D/A, B, C 3liz D [Option ID = 6568]

A W N -

Correct Answer :-
® A, Band C only/aaer A, B 3iiz C [Option ID = 6565]

53) The objectives of IAF's Safed Sagar Mission are to:
A. Evacuate Prisoners of war

B. Flush out enemy troops from Indian positions

C. Provide aerial support to the Indian Army

D. Provide battle damage assessment

Choose the correct answer from the options given below:

3 € U6 @ AWG ABR BI9r6r @ 3394 3 ¢

A. gg @ dfeal  forpreton

B. sl e 31 godrel @ gell @I ABRI DIl

C. srdiRI A6lr @ IPINRI ABRIAI IUcTot] DAl

D. gg &l sifor @I Peaicvol IUcIoer DAGI

ofi o s1u fwedl & A A8 IR @I wRI6l BT :

[Question ID = 1643][Question Description = S2_qSNz_PG_DSS_Q53]

C and D only/daet C siiz D [Option ID = 6569]

A, B, C and D/A, B, C siiz D [Option ID = 6570]

B, C and D only/@ae B, C siiz D [Option ID = 6571]
B and C only/@aet B siiz C [Option ID = 6572]

A W N -

Correct Answer :-
e C and D only/a@aet C 3iiz D [Option ID = 6569]

54) The mandates of the Truth and Reconciliation Commission for South Africa are:

A. To bear witness to, record, and in some cases grant amnesty to the perpetrators of crimes relating to human rights
violations

B. Facilitate arms surrender to the security forces

C. Offer reparation and rehabilitation to the victims



D. Establish a register of reconciliation to express regret

Choose the correct answer from the options given below:

Sf3or argidr o> g s Roffereors siriler o arférgerl af onfdrer 3 :

A. seraIf2IpRI & Sccize Adeft sruRterasafsii ot e ifdifeRaa weral i o ARl I gRICl o & foru FRIR W
B. Jzeir acil @ 213181 9 AAUT Bl YD Tolloll

C. Wif¥ql ot gorrefuet siik yoraizier

D. sge1 &l sifdrcafep @ fere Fneror Uil &l crazen @l

ofid 3w s1u fweal & A A8 IR BT WRI6l BT :

[Question ID = 1644][Question Description = S2_qSNz_PG_DSS_Q54]

1. Aand B only/@qet A siiz B [Option ID = 6573]

2. A, Band Conly/daet A, B siiz C [Option ID = 6574]
3. A, Cand D only/a@aet A, C 3z D [Option ID = 6575]
4. A, B, Cand D/A, B, C iz D [Option ID = 6576]

Correct Answer :-
e A and B only/daet A siiz B [Option ID = 6573]

55) India's SAGARMALA project attempts to

A. Develop port infrastructure

B. Improve maritime connectivity

C. Enhance the performance of the logistics sector
D. Assert India's naval supremacy

E. Coastal community development

Choose the correct answer from the options given below:

R Bl APRATC UfRINSToll BT I 3 :

A. Ul 3raRiFEen @l famrt

B. silaset uds Aaget

C. IR &Iq oI forourgat Aagol

D. sra & ARIfGe Fdlicaar ur a1 Solt

E. acacdl e1crRI @I Rt

ofid 3w o1 fwseal & A A8 IR BT wRI6T BT :

[Question ID = 1645][Question Description = S2_qSNz_PG_DSS_Q55]

1. A, B and C only/d@aet A, B siiz C [Option ID = 6577]

2. A, B, Cand D only/a@aet A, B, C iz D [Option ID = 6578]
3. A, B, D and E only/dac A, B, D siiz E [Option ID = 6579]
4. A, B, C and E only/a5aer A, B, C iz E [Option ID = 6580]

Correct Answer :-
e A, Band Conly/aact A, B 3iiz C [Option ID = 6577]

56) The role of the Indian Coast Guard is

A. Safety and protection of artificial islands and offshore terminals
B. Preservation and protection of the marine environment

C. Enforcement of maritime laws in force

D. Protection of SLOC's

E. Undertaking deep-sea mining

Choose the correct answer from the options given below:

HRRI de g1 (33761 Ple sns) bt yfdrnr 3 :
A. ofepr Sdl iz sruad cfiforer (BRI) &I Jem ud IHen
B. JAS arararvr o1 G0 Ud JRe

C. yaféra ollasol ®Iefsil ®I Yadel



D. w31 wer 3 3l @1 Agor

E. 318¥ 219G 3 ¥olel BRI @I SIRrea

ofid fou o1 feseal & A A8 IR BT <RIt HIfIT :

[Question ID = 1646][Question Description = S2_qSNz_PG_DSS_Q56]

. A, B, Cand D only/daet A, B, C 3iiz D [Option ID = 6581]
. A, Band C only/a>ae A, B siiz C [Option ID = 6582]

. A, C, DandE only/dae A, C, D aiiz E [Option ID = 6583]
. A, B, Dand E only/@5aa A, B, D siiz E [Option ID = 6584]

A wWwN -

Correct Answer :-
e A, B, CandD only/dact A, B, C sliz D [Option ID = 6581]

57) ADMM Plus mechanism includes which of the following?
A. Counter-terrorism

B. Nuclear security

C. Maritime security

D. Military medicine

Choose the correct answer from the options given below:

T 3 v vA wrA dq A PorerfiRaa enfdrer 3 -

A. Ao Aeh

B. sufdrblr Jem

C. silagol g0

D. 3w situfer

ofid 3w o1 foseal & A A8 IR BT wRI6T HIfdIT :

[Question ID = 1647][Question Description = S2_qSNz_PG_DSS_Q57]

. A, B, Cand D only/A, B, C siiz D [Option ID = 6585]
. A, B and C only/dact A, B siiz C [Option ID = 6586]
. A, Cand D only/aaet A, C siiz D [Option ID = 6587]
. A, B and D only/dsaet A, B siiz D [Option ID = 6588]

A w N =

Correct Answer :-
e A, B, CandD only/A, B, C 3iiz D [Option ID = 6585]

58) Which of the following are Principal Organs of the United Nations?
A. General Assembly

B. Security Council

C. UN Headquarters

D. UNESCO

E. International Court of Justice

Choose the correct answer from the options given below:

forgotferfiac Fgep s & Yeirot 3001 3 :
A. FBRIHI

B. Jzem uftug
C. YD g FIRACRA

D. ot

E. scoigrmorel @I 3iip siden

i) feu s1u famedl 3 A A8 IR D1 WRIet BRI :

[Question ID = 1648][Question Description = S2_qSNz_PG_DSS_Q58]

1. A, B, C, DandE/A, B, C, D 3iiz E [Option ID = 6589]

2. A, B, Cand D only/daet A, B, C 3iiz D [Option ID = 6590]
3. A, B, DandE only/aact A, B, D iz E [Option ID = 6591]
4. A, B and E only/a@aet A, B iz E [Option ID = 6592]

Correct Answer :-



e A, B,C,DandE/A, B, C, Dair E [Option ID = 6589]

59) According to the Charter, the UN has which of the following purposes?
A. To maintain International Peace and Security

B. To develop friendly relations among nations

C. To monitor the utilization of Natural Resources

D. To be the centre for harmonizing actions of Nations

Choose the correct answer from the options given below:

HIYUITUC & 3oL, YD ASS DT YRlSIof S

A. sicrRars¢RR otifer 3z ARSI Tolle 3:oll

B. 3rsci @5 e dcfiguf Jder faplR@a won

C. yrapferen HAreet @5 IURIPI UR ool 3ol

D. st @ @RIt @1 Alerdyul Sole 3x6! dreln d5g dololl

ofid fou o1 fwseal # A A8 IR BT <RIl BT :

[Question ID = 1649][Question Description = S2_qSNz_PG_DSS_Q59]

A, B and C only/d@act A, B siiz C [Option ID = 6593]
A, B and D only/dact A, B aiiz D [Option ID = 6594]
A and C only/d@act A siiz C [Option ID = 6595]
B and C only/aaet B siiz C [Option ID = 6596]

A wWwN -

Correct Answer :-
e A, Band Conly/dact A, B 3iiz C [Option ID = 6593]

60) Which of the following Indian states share a border with Nepal?
A. Uttarkhand

B. Uttar Pradesh

C. Bihar

D. Jharkhand

Choose the correct answer from the options given below:

forgatferRaa 31 3 PBlet A yRdAR I sture & e A =1 3 ¢

A. SRres

B. 3@ygar

C. ez

D. s

ofid 3w a1 fweal & A A8 IR BT wRI6T HIRdIT :

[Question ID = 1650][Question Description = S2_qSNz_PG_DSS_Q60]

. B and C only/dae B siiz C [Option ID = 6597]

. A, Band C only/dact A, B siiz C [Option ID = 6598]
. B, Cand D only/daer B, C 3iiz D [Option ID = 6599]
. A, B, Cand D/A, B, C iz D [Option ID = 6600]

A w N -

Correct Answer :-
e B and C only/aaet B siiz C [Option ID = 6597]

61) With regard to Ashgabat Agreement instituted in April 2011, which of the following are correct?

A. India did not join it

B. It aimed to establish an international multimodal transport and transit corridor between central Asia and the Persian gulf
C. Kazakhstan and Pakistan were denied membership

D. Uzbekistan, Turkmenistan, Iran, Oman and Qatar signed in 2011

Choose the correct answer from the options given below:

3er 2011 3 gu 3r9smaIc W3EHd D Ader A forgorifepa 131 3 :



A. sird 3 onfdrer o1&l gan

B. sarn1 329w w1ern efdrn siiz WA &l Wkl @ dia siaricdl ggsgofi ufvaset sii dArcigenrs SIfeRIN bl FeIruoll Bl o1
C. wonfpdre iR urfepadret 1 $ADI ASTIAAI o138l & 31

D. 3saftpedre], gasaferdre, $el, 3Gt 3R dar of 2011 3 321 3fr R sTangrk fvu

ofid o s1u fasedl & A A8 IR BT wRI6l BT :

[Question ID = 1651][Question Description = S2_qSNz_PG_DSS_Q61]

B and D only/dbaet B siiz D [Option ID = 6601]
A and D only/dbaet A sfiz D [Option ID = 6602]
A and C only/d@act A siiz C [Option ID = 6603]
C and D only/@aet C siiz D [Option ID = 6604]

A W N -

Correct Answer :-
e B and D only/d>aet B siiz D [Option ID = 6601]

62) ASEAN Regional Forum established in 1994, has which of the following objectives?

A. To foster constructive dialogue and consultation on political and security issues of common interest and concern
B. To address the regional security issues in order to promote regional security

C. To make efforts for disarmament and arms control in the region

D. To make a significant contribution to efforts towards confidence-building and preventive diplomacy in the Asia Pacific
Region

Choose the correct answer from the options given below:

1994 3 renftra sufRrRier gl Jia & 3Toa & ¢

A. arsn Za iz Riar ardl sl iz Jrei Jei UR Foicad ardf 3R vl @ aerar ot
B. gifia J2em @l geIdr <ol @ fere gicfiRn J281 @ HET DI AAIETST DI

C. &iq 3 forzfias2ur 3l forRIquUI & fore YIRT B3l

D. frar forrfur sz forare weofifer Hdell YRRl 3 SccRasiia APTcer wol

ofi 3 s1u feedl & A A8} IR BT wRI6l BT :

[Question ID = 1652][Question Description = S2_qSNz_PG_DSS_Q62]

A, C and D only/d@aet A, C iz D [Option ID = 6605]
A, B, Cand D/A, B, C iz D [Option ID = 6606]

A and D only/d@aet A siiz D [Option ID = 6607]

A, B and C only/dact A, B siiz C [Option ID = 6608]

A W N -

Correct Answer :-
e A, Cand D only/dact A, C aiiz D [Option ID = 6605]

63) Article 51 of the Indian Constitution states that the state shall endeavour to

A. Promote international peace and security

B. Maintain just and honourable relations between nations

C. Foster respect for international law and treaty obligations in the dealing of organised people with one another

D. To take punitive action against the forces posing a threat to the country without considering the international obligations
E. To promote strong armed forces to defend the country's national interest

Choose the correct answer from the options given below:

acilRT AfdeIel @ 3iofeds 51 B AR, s foalifsd @ fore Yzt @ :

A. iR orifer SR JRen @1 Aager

B. Isgi & FeA sARIgUt 3R AFHIGISIoND JHdiel Tolle Ixoll

C. Jo1fda ciipll & AT AdsR 3 iaicdl Piolel 3R 2f2r el cifRieal & yfer AAeaarer Yo o
D. siazrs ciRredl @l eret 3 fdelr, $o1 & fore FarT d6t 33 dcil @ e SsSIcad drRars

E. So1 & wsdi f3a &bl 2em @ fere A9p AR dcil DI YicAdisal

il feu aru famedl 3 A A8 IR @1 TRIel B :

[Question ID = 1653][Question Description = S2_qSNz_PG_DSS_Q63]



A, C, D and E only/aact A, C, D siiz E [Option ID = 6609]
A, B and C only/d@act A, B siiz C [Option ID = 6610]

A, B, C and D only/dact A, B, C 3liz D [Option ID = 6611]
A, B, C and E only/a@act A, B, C 3iiz E [Option ID = 6612]

A W N -

Correct Answer :-
e A, C,DandEonly/adact A, C, D siiz E [Option ID = 6609]

64) The Directorate of Perspective Planning in India is

A. A think tank of the Indian Army

B. Headed by a Major General

C. Responsible for development of Military Strategic Options

D. Responsible for the functioning of the Centre for Land Warfare Studies

Choose the correct answer from the options given below:

uf¥ggr istoln fBrgommcrr

A. st Jor @1 R - Tp 3

B. @I oiged ASIR - Slol¥el @I 3

C. Jou Wit fAmctl & JorRT & fore Smorlt dar 3

D. FeIcl g5 31ERII Bog, B DRIf D fR1U Iazcril diar 3

il fou s1u freseul 3 3 I IR BT ToT HIfSIE ©

[Question ID = 1654][Question Description = S2_qSNz_PG_DSS_Q64]

A, C and D only/@act A, C siiz D [Option ID = 6613]
A, B and C only/d@act A, B siiz C [Option ID = 6614]
A, B, C and D/A, B, C siiz D [Option ID = 6615]

A and B only/dact A siiz B [Option ID = 6616]

A W N -

Correct Answer :-
e A, Cand D only/@act A, C siiz D [Option ID = 6613]

65) The likely impact of social media on national security is that it may
A. Lead to spread of misinformation on security affairs

B. Create false public opinion

C. Affect the social fabric of the State

D. Lead to internal turmoil

Choose the correct answer from the options given below:

ICERT PRI Uz Alore Bif o1 Fenfae gsma 3 :

A. g AACIl UR 3IcId SIGIPR] & YAR DI 61 ADdl 3

B. <lisil 3 sIcid &RV DI ool M= AD«dl 3

C. U I D AFIRIG drol - drel DI PIfd B2 Dl 3

D. sircif¥as srorifer @1 aqr Addl 3

ofi o s1u fwedl & A A8 3R @I wRI6l BT :

[Question ID = 1655][Question Description = S2_qSNz_PG_DSS_Q65]

A and B only/aqet A siiz B [Option ID = 6617]

A and C only/@ac A siiz C [Option ID = 6618]

A, B and C only/d@act A, B siiz C [Option ID = 6619]
A, B, C and D/A, B, C siiz D [Option ID = 6620]

A W N -

Correct Answer :-
e A and B only/d@aet A siiz B [Option ID = 6617]

66) Match List | with List Il

List | List Il

A. Armenia I. Baku

B. Azerbaijan Il. Athens
C. Turkey lll. Yerevan
D. Greece IV. Ankara




Choose the correct answer from the options given below:

et -1 B e -1l A g i

Rxeht -1 il
A. smatforan l. a1
B. 3rsasitel Il. wo
C. gast 111, A¥aret
D. Jetrat (3fi=1) IV. siorRr

ofla 3w o1 el 3 A At W= gfom :
[Question ID = 1656][Question Description = S2_qSNz_PG_DSS_Q66]

A-1,B-1ll,C-1V, D - Il [Option ID = 6621]
A-1ll,B-1,C-1V,D - Il [Option ID = 6622]
A-1,B-1ll, C-1I,D- IV [Option ID = 6623]
. A-1ll,B-1V,C-1,D - Il [Option ID = 6624]

AW N =

Correct Answer :-
e A-I,B-1ll,C-1V,D- Il [Option ID = 6621]

67) Match List | with List Il

List | List Il
IA. Centre for Air Borne Systems I. Vishakapatnam
B. Advanced Systems Laboratory Il. Hyderabad

C. Naval Science and Technological Laboratory|lll. New Delhi
D. Defence Institute of Psychological Research|lV. Bangaluru
Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

ot -1 et -l

A. Acce Bk TR dlef Bieeea |. farormarasors
B. usdizs RRcsa adiRé 1, cerarg

C. oIacT ATSA TS CaGIIHiorDel Craigt I, or¢ fEeett
D. 3w 38 3iiw As@Idifsime frd IV. Jores

ofid f&u sru fapeal 3 A Al IR gfe :
[Question ID = 1657][Question Description = S2_qSNz_PG_DSS_Q67]

A-1ll,B-1,C-1V,D - Il [Option ID = 6625]
A-1,B-11,C-1ll, D - IV [Option ID = 6626]
A-1V,B-11,C-1,D - lll [Option ID = 6627]
A-1V,B-1lIl, C-1l,D- | [Option ID = 6628]

A W N -

Correct Answer :-
e A-IlIl,B-1,C-1V,D- Il [Option ID = 6625]

68) Match List | with List Il

List | List Il

Commando Force Service

A. Garud I. Central Armed Police Force
B. SRG (NSG) Il. Army

C. Para SF I1l. Navy

D. MARCOS IV. Air Force

Choose the correct answer from the options given below:

It -1 Bt el -1l A gakma Hifde

Rxet -1 et -

(coaisY Hotr) (3¥xar)

A. 353 |. D¢ AR gfer aet
B. 1 3R Sit (Tere=Tsil) Il. 3meff (Feret Aor)

C. URI T UG lll. oxcit (Sret o)

D. sl IV. u3r BRI (arg o)

oifY feu aru famedl 3 A 8 3R gforu :
[Question ID = 1658][Question Description = S2_qSNz_PG_DSS_Q68]

1. A-IV,B-1,C-1Il,D-lll [Option ID = 6629]
2. A-1,B-1Il,C-1ll, D-IV[Option ID = 6630]



3. A-lll,B-1,C-1IV,D- Il [Option ID = 6631]
4. A-1V,B-1l,C-1l,D-1[Option ID = 6632]

Correct Answer :-
® A-IV,B-1,C-Il,D-Ill [Option ID = 6629]

69) Match List | with List Il

List | List 1l

A. Bab el Mandeb I. Arabian sea - Red sea

B. Strait of Malacca Il. Andaman sea - Strait of Singapore
C. Strait of Hormuz Ill. Persian Gulf - Gulf of Oman

D. Suez Canal IV. Mediterranean Sea - Red sea

Choose the correct answer from the options given below:

et -1 B e -1l A g e

et -1 il

A. §9 31T dAocd |. 3Rd APR - o (33) APR

B. 3¢e 3ife et Il. sisdme ABR - e e Rivnge
C.3¢c 3iiw aiafet Ill. uf¥ferer & zarst - siaaror bt Warst
D. ¥dst olg2 V. AfZIoRIGT ABR - 35 ABR

oif<l feu ore fedl 3 A A8 3R gfore :
[Question ID = 1659][Question Description = S2_qSNz_PG_DSS_Q69]

A-1I,B-1,C-1V,D -1l [Option ID = 6633]
A-1,B-1l,C-1ll, D - IV [Option ID = 6634]
A-11,B-1l,C-1V,D-1[Option ID = 6635]
A-1V,B-Il, C-1Il, D -1 [Option ID = 6636]

A W N -

Correct Answer :-
e A-IlIl,B-1,C-1V,D- Il [Option ID = 6633]

70) Match List | with List Il

List | List 1l
A. Longowal Accord 1. 2015
B. Mizoram Accord 1. 1986
C. Indo - Sri Lanka Peace Accord 1. 1985
D. Naga Peace Accord IV. 1987

Choose the correct answer from the options given below:

It -1 Bt el -1l A gakma Hifde

oxeht -1 oxht -1l
A cifsTiarer Jarsiian 1. 2015
B. f3rsiizer aarsiiar 1. 1986
C. st - 9ficicor orifer arsiiar 1ll. 1985
D. omrem erifer Jarsiiar IV. 1987

il fou s1e fyseul 3 3 A8 IR o ©
[Question ID = 1660][Question Description = S2_qSNz_PG_DSS_Q70]

A-1ll,B-11,C-1V, D - | [Option ID = 6637]
A-1,B-1l,C-1ll, D - IV [Option ID = 6638]
A-1V,B-1ll,C-1l,D- | [Option ID = 6639]
A-11,B -1V, C-1ll, D - | [Option ID = 6640]

A W N -

Correct Answer :-
e A-1ll,B-1l,C-1V,D-1I[Option ID = 6637]

71) Match List | with List I

List | List Il

Generals during World War Il Country

A. Gen. George Marshall I. UK

B. Field Marshal Montgomery Il. Germany

C. Gen. Erwin Rommel lll. Soviet Union
D. Gen. George Zhukov IV. USA

Choose the correct answer from the options given below:



&t -l @Y 3 -1l F FAfra Hifdw :

et -1 =t -1l

(fra gg || & Sirot 3| StorRen) (Son)

A. SToreet Sitsl Fmrofer l. Jab.

B. bics amofer ifcoprst 1l. spich

C. Storel el Hdtel lll. Nferra Aforet
D. Storeer forsifst Spda IV. gea.e.

il fou s1e frseul 3 3 A IR gforw ©
[Question ID = 1661][Question Description = S2_qSNz_PG_DSS_Q71]

A-1,B-1l,C-1ll, D - IV [Option ID = 6641]
A-1ll, B-11,C-1V, D - | [Option ID = 6642]
A-1V,B-1,C-1I, D - lll [Option ID = 6643]
A-1V,B-1lIl, C-1l,D- | [Option ID = 6644]

A W N -

Correct Answer :-
® A-I,B-1l,C-IlIl,D- IV [Option ID = 6641]

72) Match List | with List Il

List | List Il
IA. Potsdam Declaration|l. Terms of the Japanese surrender in World War Il
B. Paris Agreement Il. To negotiate the end of World War I

C. Treaty of Versailles [lll. Climate Change
D. Atlantic Conference|lV. US and British declaration of war aims of World War II
Choose the correct answer from the options given below:

It -1 ot g -1l 2 gifera difre ¢

oxelt - | et -1

A. dicaSa I. Rreagg - || 3 surforii & zerdor & ort

B. af¥a sasiiar ||l Reagg - |1 Bt wrenfy & Rre araf

C. aueng 1 3ifer  |lIl. sicrarg uf¥ader

D. srcaiifRs IV. Rragg - 1l & 329l a zider 3 st s ot w1
RTFdIciol ESOTIU

ofla fou o1 frseul 3 3 A IR gforw ¢
[Question ID = 1662][Question Description = S2_qSNz_PG_DSS_Q72]

A-1,B-1l,C-1ll, D - IV [Option ID = 6645]
A-1,B-1Il,C-1I, D - IV [Option ID = 6646]
A-1V,B-1ll,C-1I, D -1 [Option ID = 6647]
A-11,B-11,C-1V,D - [Option ID = 6648]

A W N -

Correct Answer :-
e A-1,B-1l,C-1ll,D-IV[Option ID = 6645]

73) Match List | with List Il

List | List Il

Border Border Guarding Force
A. Bangladesh and Pakistan Border I. ITBP

B. China Border 1. SSB

C. Myanmar Border 11l. B.S.F

D. Nepal and Bhutan IV. Assam Rifles

Choose the correct answer from the options given below:

et -l oot 3Eh -1l A Fgafera Hifsre :

oxet -1 rreht -1l

(ftem) (fiem 2815 &et)
A. giscrGor 3iiz urfdpedrer &t e I. a$ & <t ot
B. <fior &bt 2fiem Il. g1 g1 it

C. ®niaR & e Ill. . w1. vw
D. slurel 3iiR sictol IV. 319 I5BcA

il 3w o1 fyseul 3 A At I gfom :
[Question ID = 1663][Question Description = S2_qSNz_PG_DSS_Q73]

1. A-1,B-1Il, C- 1V, D - Il [Option ID = 6649]
2. A-1ll,B-1,C-1I, D - IV [Option ID = 6650]



3. A-lll,B-1,C-1V,D- Il [Option ID = 6651]
4. A-1l,B-1,C-IllIl, D -1V [Option ID = 6652]

Correct Answer :-
e A-I,B-1ll,C-1V,D- Il [Option ID = 6649]

74) Match List | with List Il

List | List Il

IA. Discord and Collaboration I. Stephen P. Cohen
B. Monsoon Il. Adam Smith

C. India: Emerging Power Ill. Arnold Wolfers
D. Wealth of Nations IV. Robert Kaplan

Choose the correct answer from the options given below:

el -1 @1 3 -1l A Fgafera Hifste ¢

Rreht - Rxet -1l

A. f33®iS ds Dicidizoret |. ¥éwet dl. ®1dat
B. diforgel Il. usar Farex

C. sf3an © gafSfor uraz Ill. smeifes gewet
D. dcer sifw oloi IV. 3faé @weuot

il fou o1 freseul 3 3 A IR gforw ¢
[Question ID = 1664][Question Description = S2_qSNz_PG_DSS_Q74]

A-1ll,B-1V, C-1,D - Il [Option ID = 6653]
A-1,B-1ll,C-1V, D - Il [Option ID = 6654]
A-1V,B-1ll,C-1I, D - [Option ID = 6655]
A-1,B-1I,C-lll, D - IV [Option ID = 6656]

A W N -

Correct Answer :-
e A-IIl,B-1IV,C-1,D- Il [Option ID = 6653]

75) Match List | with List Il

List | List Il

A. Yazidis 1. USA

B. Kurds Il. Syria
C. Uighurs Il. Iraq
D. Red Indians IV. China

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

Rrch -1 oreht -l
A. sfidt l. geae
B. o 1. Ay
C. gomat Il. s
D. I35 =i IV. <ot

ofl fou o1 frpeul 3 3 A IR gforw ©
[Question ID = 1665][Question Description = S2_qSNz_PG_DSS_Q75]

A-11,B -1V, C-1ll, D - | [Option ID = 6657]
A-1ll, B-1V, C-1l, D - | [Option ID = 6658]
A-1,B-1ll,C-1V, D - Il [Option ID = 6659]
A-11,B -1, C-1V, D - | [Option ID = 6660]

A W N -

Correct Answer :-
o A-Il,B-1V,C-IlIl,D-I[Option ID = 6657]

76) Arrange the following ‘planned space missions' of India in ascending order
A. Mangalyaan 2

B. Shukrayaan 1

C. Aditya L1

D. Chandrayaan 3

Choose the correct answer from the options given below

HRAd @ forgstifdoa JforRNTSIA siafver fierll oI RIS aa 3 caf¥ea Hifs :



. JiBIcRIToT 2

5N

A

B. 9rmrre 1
C. snfeer L1

D. dgaret - 3

il fou s1u frapeul 3 2 & 3R BT a6l HIfSIE ©

[Question ID = 1666][Question Description = S2_qSNz_PG_DSS_Q76]

1. D, C, B, A [Option ID = 6661]
2. B, C, A, D [Option ID = 6662]
3. C, B, A, D [Option ID = 6663]
4. A, D, C, B [Option ID = 6664]

)

» Yy

Correct Answer :-
e D, C, B, A[Option ID = 6661]

77) Arrange the following multilateral export control regimes in terms of their membership in ascending order
A. Nuclear Suppliers Group

B. Wassenaar Arrangement

C. Australia Group

D. Missile Technology Control Regime

Choose the correct answer from the options given below

fortifina agushizr foriia BrRIquI crazensit @ 3RS o i AT :

A. gy snyfeicsat e

B. 4o wrawen

C. sifz¢iern e

D. ggiur gienforb! foriqur wazen

il fou s1u fyeseul 3 21 & 3a= goi ¢

[Question ID = 1667][Question Description = S2_qSNz_PG_DSS_Q77]

A, C, D, B [Option ID = 6665]
A, D, B, C [Option ID = 6666]
A, C, B, D [Option ID = 6667]
A, B, C, D [Option ID = 6668]

A WN -

Correct Answer :-
e A C, D, B[Option ID = 6665]

78) Arrange the following countries in descending order in terms of their military spending in US § as reported in Military
Balance 2020, published by IISS

A. UK

B. China

C. USA

D. Saudi Arabia
E. Russia

Choose the correct answer from the options given below

3113 3115 ©A BA GRI B1ferd} dciza 2020 3 goo1idie 3refAR fortifdpd Soll @l Io1d o =RI (3PRIDT SierR 9) @ ulygr 3 srarIdt o 3
Rraf¥erd o3 :

A. fear

B. a1

C. 3pif¥mr

D. 13531 3Ra

E. =1

il fou s1u fypeul 3 21 & 3a= goi ¢

[Question ID = 1668][Question Description = S2_qSNz_PG_DSS_Q78]



1. C, B, E, A, D [Option ID = 6669]
2. D, E, A, B, C [Option ID = 6670]
3. C, B, D, E, A[Option ID = 6671]
4. A, E, D, B, C [Option ID = 6672]

Correct Answer :-
e C,B, E, A, D[Option ID = 6669]

79) Arrange the following ethnic groups in descending order of their population in Pakistan
A. Pashtun

B. Punjabi

C. Balochi

D. Sindhi

Choose the correct answer from the options given below

forgstifepd oFstrcii 2Bl 1 urfpadret 3 oIl SleRi & RISl ol A af¥erd Hifste :
A. uogot

B. durrelt

C. s

D. Rielt

il fou s1e fraseul 9 21 & 3a= goi ¢

[Question ID = 1669][Question Description = S2_qSNz_PG_DSS_Q79]

B, A, D, C [Option ID = 6673]
A, B, C, D [Option ID = 6674]
A, B, D, C [Option ID = 6675]
C, D, A, B [Option ID = 6676]

A W N -

)

Correct Answer :-
e B, A, D, C [Option ID = 6673]

80) Arrange the following countries in descending order in terms of the length of the land border they share with India
A. China

B. Pakistan

C. Bangladesh

D. Nepal

E. Myanmar

Choose the correct answer from the options given below

forgotifepa Soil @Y MR @ el 3orehl 9 - M bl ciard D ufgga I RS aar i ey :
A. d@e

B. uifepearet

C. dorere9r

D. sure

E. wiar

ofid fou o1 el 3 A 8t I ol ¢

[Question ID = 1670][Question Description = S2_qSNz_PG_DSS_Q80]

B, A, C [Option ID = 6677]
, C, E, D [Option ID = 6678]
C, D, E [Option ID = 6679]
B, D, E [Option ID = 6680]

» Yy

E,D
A, B
A, B,
C, A

’

A w N =

y Dy

Correct Answer :-
e E, D, B, A, C[Option ID = 6677]

81) Arrange the following countries in descending order in terms of their subscription to the Asian Infrastructure
Investment Bank

A. China



B. Australia
C. Russia
D. India
E. Germany

Choose the correct answer from the options given below

ofdRIol SHRCATR sodecdic A DI Acxadar @ ufgga 3 forFatifdea Soil @1 RISl @yt 3 afFea Hifse :
A. o

B. smeferm

C. =

D. sra

E. Spielt

il fou o1 fraseul 3 31 & 3a= goi ¢

[Question ID = 1671][Question Description = S2_qSNz_PG_DSS_Q81]

1. B, E, C, D, A [Option ID = 6681]
2. A, B, C, E, D [Option ID = 6682]
3. E, C, A, D, B [Option ID = 6683]
4. A, D, C, E, B [Option ID = 6684]

Correct Answer :-
e B, E, C, D, A[Option ID = 6681]

82) Arrange the following Indian missiles in ascending order of the range:
A. Nag

B. Prithvi

C. Agni

D. Akash

Choose the correct answer from the options given below:

il RrRIrscl B1 o1l ARD gfl B SRR RIE at i AT :

A. sie1

B. gedi

C. aifdar

D. ampror

il 3w a1 fraseul 9 A W& 3= goi ¢

[Question ID = 1672][Question Description = S2_qSNz_PG_DSS_Q82]

, A, C, B/D, A, C, B [Option ID = 6685]
, B, C/D, A, B, C [Option ID = 6686]
, C, B/A, D, C, B [Option ID = 6687]

B, C/A, D, B, C [Option ID = 6688]

D

D, A
A, D
A, D

’

A w N =

)

Correct Answer :-
e D, A C,B/D, A, C, B[Option ID = 6685]

83) Arrange the following top exporters of small arms in ascending order
A. ltaly

B. Germany

C. United States of America

D. Brazil

Choose the correct answer from the options given below

B RRIRI & 9fit orIfaml @I AR Ga 3 =IO :
A. seett



B. Swielt

C. spfior

D. gmfie

ofi o s1u fwedl & A A8} IR BT wRI6l BT :

[Question ID = 1673][Question Description = S2_qSNz_PG_DSS_Q83]

A, C, B, D [Option ID = 6689]
D, B, C, A [Option ID = 6690]
C, A, D, B [Option ID = 6691]
B, D, A, C [Option ID = 6692]

A W N -

» Yy

Correct Answer :-

e A, C,B, D [Option ID = 6689]

84) Arrange the following in ascending chronological order
A. Sun Tzu

B. Kautilya

C. Clausewitz

D. Machiavelli

Choose the correct answer from the options given below

fogotferRaa Y So1d> PIcTays D IIGRIR ARIE It 3 IS :

A, Jol g

B. iftca

C. acifeiferest

D. diaarach

il feu sru farsedl 3 A A8 IR D1 WRIet B :

[Question ID = 1674][Question Description = S2_qSNz_PG_DSS_Q84]

1. D, C, B, A [Option ID = 6693]
2. C, D, A, B [Option ID = 6694]
3. B, A, D, C [Option ID = 6695]
4. A, B, C, D [Option ID = 6696]

Correct Answer :-
e D, C, B, A[Option ID = 6693]

85) Arrange the following vision documents of the Government of India on energy security in ascending order
A. Integrated Energy Policy

B. National Action Plan on Climate Change

C. Jawaharlal Nehru National Solar Mission

D. Hydro Carbon Vision 2025

Choose the correct answer from the options given below

SoIl Jzei Hdel A HRA IRPR D forifeed effecuq] ol 3Rt G I e o3 :
A. ublgpa et ofifer

B. Sicrary uf¥acder Jddeh el orRison

C. S[Arsclidl ol6d ASERI AR fIoret

D. ssgImdo eftc 2025

il 3w a1 fyaseul 9 A W& 3R goi ¢

[Question ID = 1675][Question Description = S2_qSNz_PG_DSS_Q85]

1. A, B, C, D [Option ID = 6697]
2. C, B, D, A [Option ID = 6698]
3. B, D, A, C [Option ID = 6699]
4. D, A, B, C [Option ID = 6700]

Correct Answer :-
e A, B, C, D [Option ID = 6697]



86) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Iran has been under unilateral and multilateral sanctions as a result of concerns over the nature of its nuclear
programme

Reason R: Prior to 2002 also, Iran was under US sanctions targetting its sponsorship of terrorism and its pursuit of weapons of
mass destruction

In the light of the above statements, choose the correct answer from the options given below

oii<l S Dol fGu are 3 : uw 3ifrped (A) @ wu I feilRaa 3 dl grI 33D PRI (R) D wu i @
sifdreperet (A) : $3ret 31l onfdrbRI BrRiagE B gmfr A Scuse Riamil & ufvmerasa eveusiia iz agushia yferden o fOrer 61 8

@rur (R) : 2002 A usd sit $2et sid@dIG B YRR B0l 3R saue feda @ Rt 6 315 3 onfiret wol & PRUT Jua. & yferdelt o1
forore e

SWRAD Pl D 3Iell® 3, il 3u are fdmedl 3 A AR VYD IR DI RIol DIfST :
[Question ID = 1676][Question Description = S2_qSNz_PG_DSS_Q86]

. Both A and R are true and R is the correct explanation of A/(A) 3iz (R) cleil 3t & ik (R), (A) &t A& == 8 [Option ID = 6701]

. Both A and R are true but R is NOT the correct explanation of A/ (A) 3z (R) gleil 1t 8 weag (R), (A) &l 3t e oiét & [Option ID = 6702]
. Ais true but R is false/(A) 3@ & weoq (R) 3@t ot & [Option ID = 6703]

. Ais false but R is true/(A) 3@ orét @ woqg (R) &t @ [Option ID = 6704]

A WN -

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) siiz (R) @il 3@t  siiz (R), (A) &t 3 =me=n & [Option ID = 6701]

87) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: One can treat the terms 'security studies' and 'strategic studies’ as synonymous
Reason R: The study of strategy is arguably, as old as war itself and is far older than the formal establishment of strategic
studies as an academic discipline

In light of the above statements, choose the most appropriate answer from the options given below

ofid A1 werot fSu a1 3 ;. uop sifdrverct (A) & wu 3 filaa 3 Y gzt 3ud orur (R) & »a 3 :

ifdreperst (A) @ PR8Il 3eRIGT 3R 'FUIGHieID 31¢RIoT Cloll 81 916G] DB I U - IR DI URIRI ATl ADBA 3

®rRuI (R) : vrehfer or 3Rl aifde U A Idel 8l Yrellol 3 fordon b Fari g 3R As 9ifdres fawrRr & u i welifere siermer &l siiuafia
oot A oft ®rbl YRIo 3

SWRITP Pl @ 3Mrelld d, ofld 3w s1u Rapedl 3 A AR IuYP IR DI TRol HIRIT ©

[Question ID = 1677][Question Description = S2_qSNz_PG_DSS_Q87]

. Both A and R are correct and R is the correct explanation of A/(A) 3iz (R) @il J1dt 2 3iiz (R), (A) &t 3dt =mezn 3 [Option ID = 6705]

. Both A and R are correct but R is NOT the correct explanation of A/(A) siiz (R) clail 3@l 8 woq (R), (A) &t 38 == oidt 8 [Option ID = 6706]
. Aiis correct but R is not correct/(A) 3 8 weeg (R) 3dt ot & [Option ID = 6707]

. Alis not correct but R is correct/(A) 3t ol & weog (R) &t & [Option ID = 6708]

A W N -

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) siiz (R) gleil 2@t &3z (R), (A) &l 3@ wmen 8 [Option ID = 6705]

88) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: The lack of a formal national security strategy for India has been the subject of some criticism among the
strategic community
Reason R: The newly appointed Chief of Defence Staff has formally announced a formal national security strategy

In light of the above statements, choose the most appropriate answer from the options given below

ofid A1 werot S a1 3 : U sifdrverct (A) & wu 3 filaa 3 @ a1 sud orur (R) & a3 ¢

sifdrperet (A) : MRa & fére siuanfye Isclr el WiGhfer T spia WHEHfte FHacRT & dia T siciken o R w1 3
@Rl (R) : sraforge v 3w 306 1w o siiuaiiz® AR AR Wisiifer ol sfiuniya dvomn &f 3

SWRID DUl D 3Iclld 3, oiikl f6u a1e fdaedl 3 A A IUYTD IR DI TRIol DIfST :

[Question ID = 1678][Question Description = S2_qSNz_PG_DSS_Q88]



Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) cleil 3@l 3 3z (R), (A) &t & =mz=n & [Option ID = 6709]

Both A and R are correct but R is NOT the correct explanation of A/(A) siz (R) cleil & & u3sq (R), (A) &t 3l =me=n odf 8 [Option ID = 6710]
A is correct but R is not correct/(A) &t & weoq (R) @ oét & [Option ID = 6711]

A is not correct but R is correct/(A) & st 8 weeg (R) ;& & [Option ID = 6712]

A W N -

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) cleil @l & 3k (R), (A) &t & == & [Option ID = 6709]

89) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Information technology has penetrated into all aspects of politics, economy and culture of the whole society
Reason R: 215t Century defence preparedness involves demonstration of technological strength and display of technologies
via various military exercises

In light of the above statements, choose the most appropriate answer from the options given below

ofid 31 werol U a1 3 ;. uop sifdrerot (A) & wu 3 fiRaa 3 @ gar1 3ud @Rl (R) & »a 3 :

sifSreperet (A) : e QienBrbl of gy Aaarsl @ A3gvl Ismifere, snffe sz Airafie usgsii # sl Us gor cff 3

@RI (R) : 21 df 316} b1 Jren Gl 3 gienfdsn gerar o1 ygolol wd faftieot o srarRil @ srera A Gienf3rbl Rrerfer ol corforr onfdrer 3
SWRATD Pl D el 3, ofid fGu sre frpedl 3 A AR WD IR DI TRl DIfST :

[Question ID = 1679][Question Description = S2_qSNz_PG_DSS_Q89]

Both A and R are correct and R is the correct explanation of A/(A) 3z (R) cleil 38t & 3z (R), (A) &t 3@ wmen 8 [Option ID = 6713]

Both A and R are correct but R is NOT the correct explanation of A/(A) 3iz (R) clell 3@t & udog (R), (A) &I 38 == o8t 8 [Option ID = 6714]
A is correct but R is not correct/(A) &t 8 weog (R) 2@t a1dt & [Option ID = 6715]

A is not correct but R is correct/(A) 3@t ot 8 wog (R) @t & [Option ID = 6716]

A W N -

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) siiz (R) gleil 3@t & 3z (R), (A) &t 3@ wmz=n 8 [Option ID = 6713]

90) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: There is a clear distinction between 'Nuclear-Weapon States' and 'States with Nuclear Weapons'

Reason R: 'States with Nuclear Weapons' are not considered 'Nuclear-Weapon States' because when the NPT was signed,
they did not possess nuclear weapons

In light of the above statements, choose the correct answer from the options given below

offd ot Pt fGu srw 3 @ U 3ifdrpere (A) @ wu 3 falRaa 3 Al g1 3@ ®drRut (R) D »u 3 @

sifdrperet (A) : ' onfdrbi sférIe arct 21 iR ' e, frerd urRt onfdrbir sfirme ¥ & dia Fuse siar 3

@RI (R) : ' s o urt onfirblr sRRR T o1l snfibR sfRRIR ardl 1o oidl HAell SIdar 3 aRiifes S wor Ul & uz srang s srim e at
IoId UrA onfdcb sRRIR disie oidl

SWRITP Pall D 3MIclid A, ofld fBu s1u fRypedl 3 A AR IuYTh IR DI Tol HIRIT ©

[Question ID = 1680][Question Description = S2_qSNz_PG_DSS_Q90]

Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) cleil 38t 3 3z (R), (A) &t & warzn & [Option ID = 6717]

Both A and R are true but R is NOT the correct explanation of A/(A) iz (R) g6l 2@t & weeg (R), (A) 6l 3t <= ot & [Option ID = 6718]
Ais true but R is false/(A) 3@t 8 woq (R) 2@t ol & [Option ID = 6719]

A is false but R is true/(A) 3t odt @ w3sq (R) 2wt 8 [Option ID = 6720]

A W N -

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) siiz (R) @il 3@t iz (R), (A) &t 3 =m=n & [Option ID = 6717]

Topic:- 11DSS_B

1) Read the passage carefully and answer the questions that follows

The question, however, is, whether such a view of Marx's sociological and economic analyses of contemporary society, can
be reconciled with the position that he was a major exponent of the 'historicist' method, which Popper regards as 'very
poor'. That his assessment of Marx's empirical analysis would lead many to wonder whether his criticism of the "historicist’
method was justified, has not escaped the attention of Popper. But he does not find any confusion in his thinking, because,
according to him, Marx did not use the historicist’ method when he analyzed existing society. This might come as a surprise
to the followers of Marx as well as to historians of ideas. But it shows Popper's deep insight into Marx's thought when he
points out that '"Marx made an honest attempt to apply rational methods to the most urgent problems of social life. In other
words, instead of relying on laws of historical development, historical tendencies, or stages of development, Marx carefully
analyzed existing social conditions. In particular, he relied on the logic of class situation to explain the working of institutions
of the capitalist system. This is what Popper calls the method of institutional analysis. this interpretation of Marx's approach



to social and political life enables us to see Marx in a different light. It is not hard to see, however, that it will invite
considerable opposition, since it goes against the traditional interpretation which places his view of history at the Centre of
his thought. The fact is that it also goes against Marx's own belief that the historical method, as developed by him, helps in
unraveling the mysteries of social life.

feu s1u srEri9r @l eaeyde® ug iR foraferRaa yell @ Jaz & :

I Yoot ag 3 fop ATt & Farsiardt sz FermIciiol st @ nffa frecsuur o1 YT eftcmIvr 3o ‘sitrRIardt’ ugltl o1 'ge yfeacs ot
b Rrerfer 21 et a1 J1par 3 sie@r ofdl, PRI diur ‘"&bl snemRdler’ deid 3 A @ seyfdnicie feaiaur A @bl disll ol smERi 8kl 6 =
Joropl "shereRIal’ ugfer & sicliaet el ArRNRIA 3 iR U8 diur &t efte A aa o1df urn & u3q d Jordl Ala 3 fpfl YR o1 Rt o8l urd
3 I o1 3IGRIR AT ol S addrol TSI Pl feeadyur fop=n, dl ool sierRIat ugl oI gieI odl fien Aa1s ara=d & soRNRRI @ ATy -
A1 fRRI & sRBRIERI @ forg o smarR! @I faw 8 Aodr 3 uig As A @ Rl & gfer diuz & ssdl siaéfte ol corlar 3 fob s d a8
@ad & b -"arad Apnie Sfider b sacia FaF=amsii @ ff1e arfdbe ugierIl a siuciol T $ATCIGHT A YRIRT B & ' 3o 9rsal 3, YRR
frprar & forml, dMerailRies gitril srerar faerRT arvull Uz faeart oot &t g s of Jiser APnie gonsil o eanxgde faeauur fopan
HWRIAR WR Jodlol Yohufel sraeen @ Azeaii &bl ori - yuiedl &I caren @ fére &I Rrafer & aas ur sRR1 e diur 331 Aramia fRecswvr &f
ugfl wed & At & Al ik Asoifie Sidast & gfer efSemivr B s IR &3 Arad o1 sicer ul¥ga 3 el @1 eficdIvT Yglol w2ar
3 uEft, I Fuce 3 b 331 zfReplur &I orbl sirciiel dkfl Il U8 WP FR] @ fawsg Sidr 3 il sieRT @ an 3 Joid zfScdlvr @I
3ol foaRt & dq A adr 3 Fcars A 3 5 A Arad 6 siuehl seIar & fasg 3 5 Jord & gr1 yferuifea e ught apnfow shae @
BRI DY IgIfed ool A ASRIAT BT &

According to passage, who said Marx made an honest attempt to apply rational methods to the most urgent problems of
social life?

3TErior @5 3eRIR fpel @ar 3 o5 - ANl Sitasr 6 sacia AR=mnsil A forucal @ fere A ughRIl & sigyRIeT BT dIa=d of $AGIGR YART
fopem ?

[Question ID = 1681][Question Description = S2_qSNz_PG_DSS_Q91]
Marx/#ra=i [Option ID = 6721]

Popper/diuz [Option ID = 6722]

Michael Sheehan/#sw®et st [Option ID = 6723]

Raymond Aron/3sis @it [Option ID = 6724]

A W N -

Correct Answer :-
® Marx/aa=t [Option ID = 6721]

2) Read the passage carefully and answer the questions that follows

The question, however, is, whether such a view of Marx's sociological and economic analyses of contemporary society, can
be reconciled with the position that he was a major exponent of the 'historicist’ method, which Popper regards as 'very
poor'. That his assessment of Marx's empirical analysis would lead many to wonder whether his criticism of the "historicist’
method was justified, has not escaped the attention of Popper. But he does not find any confusion in his thinking, because,
according to him, Marx did not use the historicist' method when he analyzed existing society. This might come as a surprise
to the followers of Marx as well as to historians of ideas. But it shows Popper's deep insight into Marx's thought when he
points out that 'Marx made an honest attempt to apply rational methods to the most urgent problems of social life. In other
words, instead of relying on laws of historical development, historical tendencies, or stages of development, Marx carefully
analyzed existing social conditions. In particular, he relied on the logic of class situation to explain the working of institutions
of the capitalist system. This is what Popper calls the method of institutional analysis. this interpretation of Marx's approach
to social and political life enables us to see Marx in a different light. It is not hard to see, however, that it will invite
considerable opposition, since it goes against the traditional interpretation which places his view of history at the Centre of
his thought. The fact is that it also goes against Marx's own belief that the historical method, as developed by him, helps in
unraveling the mysteries of social life.

fou s1u srEri9l @l eaegde ue 3R forafeRaa gl d 3R S :

eIt Yoot g 3 fp Ara=i & Fasard iz aamiclicl At & nffa fraduvT o Yar efSemlvr 3o ‘shrREaK’ ught o ‘#gea gfiucs do
oI Rrerfer 21 Fier T1 ADAT 3 1A o181, ORI UfuR '®Ibl MERSIeT HAlold & AR @ IyCRIcIP [AeHvT A DIbl cliell I 3MERE 3PN b a=r
Jotopl ‘sfeerRIadl’ ugfer &t sirciieei ool ArRNRIa 3 3R A6 diuz &t zfte A aa oéf urn 3 uq d Joerhl Ala 3 el YR @1 o ol urd
3 RIifep o1 IR AT ol SId addrol TSI bl ferayaur foper, dl ool sferrRIadt ugfer o gier ol fien As ara=d & sroRNRRI & AT -
A1 At @ sfersraror] o forg it smart o1 foeRr 8l Aodr 3 uq A Arad @ feramnl @ gfer dius & a16d siaéfte o1 gorfar 2 fb s d a8
®ad 3 b -"arad Apnioie siaer B sacia Aazamsil d e afife uglril Bl 36l 1 $HAIGH A JR—IRI B 3 ' 3164 91sal 3, YeisiRie
ferrT @ formal, VeeIRIes gieril srerar fmrRt aRvil U forar wol &l sragn Ara=d of Jlsigl AHIRID corsil oI &aeigda faeauur e
HRIAR UR 3oslol Gollufel razen o AFA3ll I PRI - yulreil &I wmren o ferg o Rerfer & aw ur R [ diur 21 Jvereia feayur &f
ugfer wea & wrad & Anenfore iz Aseifie siasr @ gfer efteamlvr 6 531 carean &3 Arazd o1 sieer uldgga 3 Sae @1 eftcdIvn Ygrol war
3 JEIft, A8 ¥ute 3 b 51 efSeaplur bl DIl sirelirell vl aRIIfp As WRURPIA fRIRI @ fisg SIIdr 3 Sl siderRT @ aR # 3oid eftcdIvr Bf
3Ual Rt @ oq 3 Wadr 3 Jcars Az 3 5 A Arad 6l siuehl AR @ g 3 5 Jord & grI yfauila el ughr apnfis shae @
3B DY SGIfed BIol A HABRIAT BT 3



While analyzing existing social conditions, as per the paragraph, Marx relied on

eIl D ORAR, dddlel ATAIRID I3l I faSuur wad A Arad fobaa Uz farart o 3 .

[Question ID = 1682][Question Description = S2_qSNz_PG_DSS_Q92]
1. Empirical method/siggfereres ugfer [Option ID = 6725]

2. Institutional Analysis/3izemsIa faecsuor [Option ID = 6726]

3. Logic of class situation/dad vd asf i Reifer [Option ID = 6727]

4. Traditional interpretation/wueK =m=iet [Option ID = 6728]

Correct Answer :-
e Empirical method/sigpsferazera ugfer [Option ID = 6725]

3) Read the passage carefully and answer the questions that follows

The question, however, is, whether such a view of Marx's sociological and economic analyses of contemporary society, can
be reconciled with the position that he was a major exponent of the 'historicist’' method, which Popper regards as ‘very
poor'. That his assessment of Marx's empirical analysis would lead many to wonder whether his criticism of the 'historicist’
method was justified, has not escaped the attention of Popper. But he does not find any confusion in his thinking, because,
according to him, Marx did not use the historicist’ method when he analyzed existing society. This might come as a surprise
to the followers of Marx as well as to historians of ideas. But it shows Popper's deep insight into Marx's thought when he
points out that '"Marx made an honest attempt to apply rational methods to the most urgent problems of social life. In other
words, instead of relying on laws of historical development, historical tendencies, or stages of development, Marx carefully
analyzed existing social conditions. In particular, he relied on the logic of class situation to explain the working of institutions
of the capitalist system. This is what Popper calls the method of institutional analysis. this interpretation of Marx's approach
to social and political life enables us to see Marx in a different light. It is not hard to see, however, that it will invite
considerable opposition, since it goes against the traditional interpretation which places his view of history at the Centre of
his thought. The fact is that it also goes against Marx's own belief that the historical method, as developed by him, helps in
unraveling the mysteries of social life.

feu s1u srEr9r @l eaegd® ug SR foreferRaa gl @ Jaz & :

eIt Yoot ag 2 fop ATt & Farsiardt siz FermIciiol st @ nffa fecuur o1 YT eftcmIvr 3o ‘sierRIadt’ ughl o1 'gre yfeacs ot
b Rrerfer 21 et 21 1par 3 sre@r ofdl, PRI diur ‘ol snemdler’ aeid 3 A @ seyfericre fecaur A bl disll of smERi gkl 6 =
Joropl "shereRIal’ ugfer & sieliaet @l ARNRIA 3 iR U8 diur &I efte A aa o1dl urn & u3q d Jordl Ala 3 fpfl YR o1 Rt ol urd
3 I Io1dD 3IRIR AT ol S adddrol AT Pl feeadyur fop=n, Al ool sferRIad ugf oI gileI odl fin s arad & SRR @ ATy -
AT [RRI & sRBRIERI & fo1g ol smarR! @I fae 8 Aodr 3 uig As A1 @ IRl @ gfer diuz & s1sdl siaéfte ol gorlar 3 fob s d a8
D 8 [ -'Ara=d AT Sfiae ®I sacia Ja=am3il @ fore arfdbe ugierIl @I iusiol I $AGIGRI A JIRI DA & 36 95l 3, BiepIlRie
faorRT @ forzmal, SiceIRIas gferil srerar bRt <RIl U= f[PaRT w20l dI el ATa=d of Hisigl ATPMRID Gl Bl &Aleigdd fa*ayuT o=
HRIAR U7 Joslol Ysilufd cqazen o AFA3ll I BRI - yulreil &l carear o ferg ol Rerfal @ aw u? Rl o diuz 331 JAveamsida feauur &bf
ugflr waa & arad & Al ik Asoifie Sidast & gfer efSedivr 6B s IR &3 Arad o1 sicer ul¥ga 3 3xdael @1 efcdIvT Ygrol w2dar
3 uEft, a8 ¥uce 3 b 331 zfReplur &I wrbl sirciiael dkfl Il U8 RwRPIA RFR] @ fawg Sidar 3 il sieRT @ an 3 Soid zfScdivr @I
3ol foaRt & &g A adr 3 Acars A 3 5 A Arad 6 siuehl sreIar & fasg 2 15 Jord & grI yferuiiea el ught apnfw shae @
IERI DY IgIed ool A ASRIAT BT &

According to the passage, who was a major exponent of the ‘historicist’ method?

SN @ 3IRIR ‘sieRIaK! ugld @ I¥RI Yfaared diol I ?

[Question ID = 1683][Question Description = S2_qSNz_PG_DSS_Q93]
1. Popper/diuz [Option ID = 6729]

2. Marx/#mi [Option ID = 6730]

3. Lenin/afsrer [Option ID = 6731]

4. Stalin/=<ifrer [Option ID = 6732]

Correct Answer :-
e Popper/diuz [Option ID = 6729]

4) Read the passage carefully and answer the questions that follows

The question, however, is, whether such a view of Marx's sociological and economic analyses of contemporary society, can
be reconciled with the position that he was a major exponent of the 'historicist’ method, which Popper regards as 'very
poor'. That his assessment of Marx's empirical analysis would lead many to wonder whether his criticism of the 'historicist’
method was justified, has not escaped the attention of Popper. But he does not find any confusion in his thinking, because,
according to him, Marx did not use the historicist’ method when he analyzed existing society. This might come as a surprise
to the followers of Marx as well as to historians of ideas. But it shows Popper's deep insight into Marx’s thought when he
points out that 'Marx made an honest attempt to apply rational methods to the most urgent problems of social life. In other
words, instead of relying on laws of historical development, historical tendencies, or stages of development, Marx carefully
analyzed existing social conditions. In particular, he relied on the logic of class situation to explain the working of institutions



of the capitalist system. This is what Popper calls the method of institutional analysis. this interpretation of Marx's approach
to social and political life enables us to see Marx in a different light. It is not hard to see, however, that it will invite
considerable opposition, since it goes against the traditional interpretation which places his view of history at the Centre of
his thought. The fact is that it also goes against Marx's own belief that the historical method, as developed by him, helps in
unraveling the mysteries of social life.

fou a1u srErion @Y eATeIgd® U 3R foreiiRaa gl B 3R S ¢

FEIftt Yoot ag 3 b Ara=i & Fasard ik Aamicliol At & nffa vt o Yt effemIvl 3o ‘shBrREK!’ ught o ‘Fea gfics do
& Rrerfer 21 Fier T1 ADar 8 1@l o1dl, ORI UfuR 'orbl seRSlel’ Alold & AR @ eyfeRIcI faauvT A Dbl ciell ol MRt 3PN o o=
Jolopl 'sierRIAdl ugh ol sieliRiell w6l IRIRIA & 3iiR A6 Uiur o zfte A o=@ oidl url 3 U d Jolcl Al 3 fpAl YdR oI R ol urd
3 I Io1dD 3R AR of S ddddrel AATST DI KPSyl fop, dl Iedol sfieRIAST gkt oI gRIeT oél [ Ae ATa=d & SeRIRRIl @ AT -
A1 ARl @ seRIERI @ foru il smarR! @I fre 8l Aedr 3 wRq As AR @ Rl @ gfer diur & sl siaéfte ol goular 3 fob s d a6
@ad 3 b -"arad Aenfoie siaer B sacia Aazamsil d e arffe uglril ol sraeiol @1 $HATIGR A YRIRA dd 3 ' 3ied 91sal 3, UeisiRie
forprt @ formEl, YeeIRIe gieril srerar frmrRt aRvl uR frart wol &l sragn Ara=t of Jlsigr ABID Sl oI &apigde faauur e
HRIAR UR Jodlol Yoliufel carazen @ Azl bl oRI - yuirell &I carean o fere &I RFrerfer @ aas ur R [ diur 531 Aveerd faecsuur &f
agfel @wad 8 AT D ARIRID AR ASHIrD Siidael @ Yfel efScdIvr Ol 51 ARSI 33 AT DI 3rcrel UlygRa 3 ¢¥Tol Bl ftcdIvT Yglol dl
3 JEIft, As Fute & b 51 efSeaplur bl Dbl elicrel vl dRIIfp Js IRURPI [aRI @ fisg SIIdr 3 Sl siderRT @ aR # 3oid eftcdIvr oI
3Ual Rt @ ad5q 3 W 3 Jcars A 3 B A Arad 6 siuehl AR @ g 3 5 Jord & gr1 yfauiida deeilRe ughr apnfims shae @
3B DI IGIfed BIol A HABRIAT BT 3

While analyzing Marx's approach to social and political life, according to Popper, what goes against the traditional
interpretation of Marx?

AT D ARMRIP 3R AsTolfeId Sfidel B fecpIvT DI U Dl AR UTUR @ RIR AR DI IRURPI IR @ [dFg o= siar & ?

[Question ID = 1684][Question Description = S2_qSNz_PG_DSS_Q94]

. Sociological and economic analysis of contemporary society/3wicdbrctior W1 BT ISR vd 3mféfes frawur [Option ID = 6733]

. His approach to society and political life of existing society /3o adsirel JWIGI D APIRID vd Aslifcid Sfiael @ gfer eftemivr [Option ID = 6734]

. Marx's empirical analysis of society/#ra=t grI 3wt @I sojefcEc® fcswur [Option ID = 6735]

. Marx's own belief that the historical method developed by him helps in unraveling the mysteries of social life/ama=f @1 st 16 ferar e b Iord grRT
R YR ught ARfere Siider @& 26l @I 3gifed w20l 3 AsrIar awa 3 [Option ID = 6736]

AW N =

Correct Answer :-
e Sociological and economic analysis of contemporary society/3wrdbIctler st T JAGINRTSRI vd 3nfefas frcswur [Option ID = 6733]

5) Read the passage carefully and answer the questions that follows

The question, however, is, whether such a view of Marx's sociological and economic analyses of contemporary society, can
be reconciled with the position that he was a major exponent of the 'historicist’' method, which Popper regards as 'very
poor'. That his assessment of Marx's empirical analysis would lead many to wonder whether his criticism of the "historicist’
method was justified, has not escaped the attention of Popper. But he does not find any confusion in his thinking, because,
according to him, Marx did not use the historicist’ method when he analyzed existing society. This might come as a surprise
to the followers of Marx as well as to historians of ideas. But it shows Popper's deep insight into Marx's thought when he
points out that 'Marx made an honest attempt to apply rational methods to the most urgent problems of social life. In other
words, instead of relying on laws of historical development, historical tendencies, or stages of development, Marx carefully
analyzed existing social conditions. In particular, he relied on the logic of class situation to explain the working of institutions
of the capitalist system. This is what Popper calls the method of institutional analysis. this interpretation of Marx's approach
to social and political life enables us to see Marx in a different light. It is not hard to see, however, that it will invite
considerable opposition, since it goes against the traditional interpretation which places his view of history at the Centre of
his thought. The fact is that it also goes against Marx's own belief that the historical method, as developed by him, helps in
unraveling the mysteries of social life.

feu a1u srerion @Y eATeIgd® U 3R foreifeiRaa gosil & 3R S ¢

gzt oot ag 3 b Araet & Aasard i Aamicliol At & nfefa fPpduvT o Yt effedIvl 3o ‘shBrRa’ ugll o ‘Fge gfiucs dlo
bl Rrerfer 37 el a1 Apdr 3 s1edr ofdl, PRI Uiu? ‘&bl snemdlel’ dAeid 3 Arad @ sepfdEcr® faeadaur A @bl cisll ol MRl Son b o=
JoIepl ‘sieerRIaKt gl bl eIkl oIl ARk 3 3R AU Uiur bl fte 21 o ol urn 3 WRq d Jorh! Ala d bl YR @1 J9RT o8l ura
& TRIIfD IoTdD SIGIAR HAIGH ol Sid ddddlol JAATST DI faec3uvr fdpan, dl 3odol sicrRIast ugh @I yrileT o1dl foanr as ara=d @ SRR & AT -
A1 ARl & siieraoRl & forg it snart o fawr & Jodr 3 uidg s Arad & faarl & gfer diuz & sedl siaéfte ol gorlar 8 foo s d as
@ad 3 b -"arad Aeniw Sidaer B sacia Aaz=sil D e aiffe ughril ot sMuciol 1 $ATIGE A YRR B 3 ' 3iew 91sal 3, YWesiRie
frrt & formEll, dereRies gferil srerar Rt aRvll uR frarT w6t & smgn Ara=t of AlsIgT APMNRIG Gorsil oI eapgde frauur i
HRIAR WR Iodlol Yollufer saraven @ Avensii bl orRI - yuiredl &I caren @ fere &I Rrerfer @ aas ur sRRA [ diur 531 Avaerd fecswvr &f
ugfer wea & Fra=t & ARNRD AR IS Sliaa @ yfer efSemIvr & 331 IReAn g3 A=t Bl 3ice1 uldygRa 3 ¢xaol Bl ftcdIvT Yglel dl
2 Eft, a1 Fuce 3 fob 5 zfSemiur &bt orbl sirclleon alefl aRIifs A6 uRuRPId f[ARRl & fawsg sirar & Sit sfierT @ aR 3 Sord effedlur of
3ol Rl @ d5g #d aar 3 Fcars as 3 6 as Aarad & sruehl aredar @ g 2 6 ad & grr yfauiea WWeeilie ught A Shaor &



3B DI IgIfed Dol A ABRIAT BT 3

As per the paragraph, Marx relied on the logic of the class situation to explain the working of institutions of the capitalist
system. Popper describes it as

STETi9l & 3MGRIR, ATGRd Gollarl crazen &t Azensil & erI yurell & carear & fere aof - Rafer & as uz forart od g diuR of 53 @al 3 -

[Question ID = 1685][Question Description = S2_qSNz_PG_DSS_Q95]
1. Method of institutional analysis/3izemeIa faecsuur eftemivr 6t ugf [Option ID = 6737]
2. Method of historicist approach/sfteRIaKc! eftemur &t uglt [Option ID = 6738]

3. Method of traditional interpretation/u3uera et &t ugfer [Option ID = 6739]
4. Rational Methods/aifes® ugferif [Option ID = 6740]

Correct Answer :-
e Method of institutional analysis/zizema faea3uur ke & ugfer [Option ID = 6737]

Topic:- 11DSS_C

1) Read the passage given and answer the questions which follow

Peace-building can be understood as a supplement to preventive diplomacy, peacemaking process, conflict resolution and
peacekeeping operations. It encompasses measures in the context of emerging, current or post-conflict situations for the
explicit purpose of preventing violent conflict and promoting lasting and sustainable peace. In 1992, the UN report ‘An
Agenda for Peace: Preventive Diplomacy, Peacemaking and Peacekeeping’ introduced the term peace-building. The
concept of peace-building was further developed and clarified in a series of subsequent documents, among those the
Brahimi report on UN peace operations and Security Council Resolution 1325 (2000) on women, peace and security. The
latest policy statement on peace-building from the Security Council is the Presidential of 20 February 2001. It recognizes
that peacemaking, peacekeeping and peace-building are closely interrelated and that peace-building is aimed at preventing
the outbreak, recurrence or continuation of violent conflict and therefore encompasses a wide range of political,
developmental, humanitarian and human rights programmes and mechanisms. The UN High-Level Panel (2004) suggests that
peace-building should focus on state building - usually, but not exclusively, in a post-conflict situation. The security
dimension encompasses the security of the country and the personal security of its inhabitants. In post-ceasefire (post-
conflict) situations, some elements that have to be considered are: Disarmament, demobilization and reintegration of ex-
combatants into the local community. This should include special programmes for women and children.

forotifee srerior @t ufey siiz ofid 3w s1e yesil @ 3az i :

orifer foratior ol forare wgoiifer, orifer Femuenr yfepRmail, ud anenst iz onferRgvr JMRIG & Y WU 3 A ST ADdl & 3 IR,
adaret rerar JHadiar aff¥eferl @ ui¥ggn d sura Afserdia s & fierm! Jruse YRilsial 8@ Aad oI Addr 3z Sidmifcre aen AemoikRn
Tifer oY SgTar oIt 3lar 3 eniferforafor ores @1 YRieT Uscdl ar 1992 @ iy vy &t Rl 'vat seist B Ui : bt Rwciaesl, defee is
dircbiftier 3 fdpam srRi  onfod foraiur &l sraerRun @I ©F IaRadl grardsil dl 9jxaciraii 3 faPRIA 3R Futce f[pwr sk Srered aifdet, orifer 3l
e frer1 U YD e ornifer sifSrrrel siiz IRem uf¥ec Fara 1325 (2000) o ider 3 qufdel & Rald onfdrer 3 onifer forarfor @ ider 3 Jen
ufyag &l 3iiz A sIdieiaar shifeera awer 20 wadt 2001 @1 &= sri sre1eliRr awboa 3 539 DR o= sRi 3 16 orifer Femuetr, erniferzerr iz
orifer foifor ureuR sidRfag 3 siiz orifer fowtivr o1 3o Bt Jiad & yzEed, YorRight sierar foRrardr & Abeunt wdr 3 3k sAfee s
RIS ISHfers, fPRIcHAD, AR 3l AIAIf2IPR BRIy dar dq onfire 3l & YT 2Usg, D srcurflipr gr Yotel (2004) o1 Jzma 3 &6
orifer forafor @ fere Jadiar ufsf¥erfer 3 AraTcRIa: Isgforaivr uz el f siren a1f3w fobod d>dct 3l Uz &t o 81 JG RIH A I DI A8
3R 3D forail¥ral &t Gafepd e onfdicr 3 AadfeREiR (Aadiar) uRRuferil 3, o aci u= ar fear sien aifdv, d 3 :forediam=ur, gd
- crs1l @l foIfSap el 3R FeTeliRI AICRT O AT Il Yol: Tehlpul 3 Afderail sk acdl & fere fady oriau onfie glor anfdw

According to the paragraph, in post-ceasefire situations, which of the following elements need consideration?

STEN9I B RIR, AHad - RREI @ ac &I ulf¥eferil 3, ol addi ur earor & Sien @fdw ?

[Question ID = 1686][Question Description = S2_qSNz_PG_DSS_Q96]

UN must work for arms control and disarmament/ e ec, @l 9IR¢, foriquI 3R forRdidur @ e et won aifde [Option ID = 6741]
Disarmament, demobilization and reintegration of ex-combatants/qd crste! @1 forediaur, fSifdrerer 3iiz goridbiaszur [Option ID = 6742]
Women and children must be given protection/afacmail sliz sl @t sifordrf %u A Jiemvr fgen s anfdew [Option ID = 6743]
Peace-building should focus on state-building/ erifeiforifor 3 recforefor w2 et fe&=n Smon anfde [Option ID = 6744]

A W N -

Correct Answer :-
® UN must work for arms control and disarmament/3RJcb eg @1 917 foriqur 3iiR fordlaur & o ®e1 won aifde [Option ID = 6741]

2) Read the passage given and answer the questions which follow

Peace-building can be understood as a supplement to preventive diplomacy, peacemaking process, conflict resolution and
peacekeeping operations. It encompasses measures in the context of emerging, current or post-conflict situations for the
explicit purpose of preventing violent conflict and promoting lasting and sustainable peace. In 1992, the UN report ‘An



Agenda for Peace: Preventive Diplomacy, Peacemaking and Peacekeeping' introduced the term peace-building. The
concept of peace-building was further developed and clarified in a series of subsequent documents, among those the
Brahimi report on UN peace operations and Security Council Resolution 1325 (2000) on women, peace and security. The
latest policy statement on peace-building from the Security Council is the Presidential of 20 February 2001. It recognizes
that peacemaking, peacekeeping and peace-building are closely interrelated and that peace-building is aimed at preventing
the outbreak, recurrence or continuation of violent conflict and therefore encompasses a wide range of political,
developmental, humanitarian and human rights programmes and mechanisms. The UN High-Level Panel (2004) suggests that
peace-building should focus on state building - usually, but not exclusively, in a post-conflict situation. The security
dimension encompasses the security of the country and the personal security of its inhabitants. In post-ceasefire (post-
conflict) situations, some elements that have to be considered are: Disarmament, demobilization and reintegration of ex-
combatants into the local community. This should include special programmes for women and children.

forgotifese srerior @1 ufeu iz ofld 3w are ywil @ 3az dfome ©

orifer forativr ol foraraes wgoiifer, orifer Femuetr yfpRnsil, ud amenst siiz oriferRgvr BRIGH & g WU 3 A Sl ADAI & 33 IGRIAT,
acdatrer srerar Aeadfae af¥Raferl & ul¥ga 3 Surn Afserdia i & Rierer Jruse YRSt e Had ol Awar i SHeifers aen demvfia
or1ifer I agrar olt 3k 3 oniferforafvr 916G T YRIleT usctl ar 1992 3@ Fyep 2rvg &t Rl 'ver sisT iR Wi @ fydfta Rk, tiaafeer us
dirchiftier 3 fpen srRu onfod forifur bt sraemun @1 ¢ Iaraddl crardsil & gjzensii 3 freRia iz Tuse fpan sk el aifden, orifer iz
e faeRr uR Aep usg, onifer if3rIGll STk g ufvue arr 1325 (2000) o> Ader # gufaatt i Rulré onfdrer 3 orifer forarior @ Jidier i gen
uf¥ug &t 3iiz A oidierad ofifeera amoa 20 wast 2001 @t S s sieugiiR aboa & 333 FABR o= srn & fob orifer Femuet, oriferzeror 3iiz
orifer foraAfor uReuR sicRiacg & iR grifer forativr @1 3Z9w eI Jad @ Ypeol, Yokl rerdr foRadr &l AU dir & 3R sAfere s
RUP ISToferd, AeRIcHD, AR 317 ATAIEIPR BRia qar dq onfire 3l & IYTs s, D srcurfrdr grd Yoter (2004) o1 Jgoima 3
orifer forarfor @ ferg FHerdfee ufdf¥erfer 3 ArAGR—IA: weforator uz ot fear Sirelr @fdy fboq ddaet 2l U2 oct of A JM 3IRATA A o1 Bl Fgn
3R 3 foraiRrl bt Jufepes IyRem onfirer 3 FadfREiR (FEdiR) ulfReaferil 3, o amdl ur far e sren @i, a 3 :forefiawr, gd
- cIsTp] @l forfdaRr ol 3l FeATGiRI FRCRI D AT IoId! Yol: ThIpuT 13l AfFesil aiiz gl @ fere oy wriga onfie diot aifde

The Presidential statement of 20 February 2001, as per the paragraph, recognises

SNl @ 3eRIR, 20 wadl, 2001 @ sreasiia ao 3 dioR f[pwr sk 3 b :

[Question ID = 1687][Question Description = S2_qSNz_PG_DSS_Q97]

1. Women, peace and security are interrelated/aifaem, otifer siiz JRen sidRiag 2 [Option ID = 6745]

2. State and personal security is closely related/3mc iz difepd IRen sidRfag 8 [Option ID = 6746]

3. Humanitarian rights programmes and mechanisms are interlinked/sieraiferer ®riaa sz dq sidzlag & [Option ID = 6747]

4. Peacemaking, peacekeeping and peacebuilding are closely related/ rifef zemuer, orfeRerr sii orifer fomifur wewR Aag & [Option ID = 6748]

Correct Answer :-
e Women, peace and security are interrelated/aifée, 9rifer siiz 3Ren sidRfag & [Option ID = 6745]

3) Read the passage given and answer the questions which follow

Peace-building can be understood as a supplement to preventive diplomacy, peacemaking process, conflict resolution and
peacekeeping operations. It encompasses measures in the context of emerging, current or post-conflict situations for the
explicit purpose of preventing violent conflict and promoting lasting and sustainable peace. In 1992, the UN report 'An
Agenda for Peace: Preventive Diplomacy, Peacemaking and Peacekeeping’ introduced the term peace-building. The
concept of peace-building was further developed and clarified in a series of subsequent documents, among those the
Brahimi report on UN peace operations and Security Council Resolution 1325 (2000) on women, peace and security. The
latest policy statement on peace-building from the Security Council is the Presidential of 20 February 2001. It recognizes
that peacemaking, peacekeeping and peace-building are closely interrelated and that peace-building is aimed at preventing
the outbreak, recurrence or continuation of violent conflict and therefore encompasses a wide range of political,
developmental, humanitarian and human rights programmes and mechanisms. The UN High-Level Panel (2004) suggests that
peace-building should focus on state building - usually, but not exclusively, in a post-conflict situation. The security
dimension encompasses the security of the country and the personal security of its inhabitants. In post-ceasefire (post-
conflict) situations, some elements that have to be considered are: Disarmament, demobilization and reintegration of ex-
combatants into the local community. This should include special programmes for women and children.

forotifene srerior @t ufeu siiz ofid 3w s1e yesil @ 3az dfome :

orifer foratior ol forare wgoiifer, orifer Femuetr yfepRmail, Fud anenst siiz oriferegvr MPRIG & g WU 3 A ST ADAl & 33 IGRIHAT,
acdatrer srerar Aadfae afyRauferl & ul¥ga 3 Surn Afserdla i & oo Jruse GRS e Had ol Awdar ik SHeifere aen dearviia
orifer @Y ggrar ot akar 3 oniferforaaivr 9reg T YRileT uscdl ar 1992 3@ Iy g &t Rl 'ver sisT B Wi @ ARk Rwadrdl, terafeer us
dizrchiftior 3 fepar srRi  onfod forfor i sraeRun @I w$ IrRadl cedrdsl &I 9f¥crsil d R 3iiz Fute fopen sk fSrore aAfden, orfer iz
Fgzen RreRr Uz e areg orifdt sl 3z 3yee uftes wear 1325 (2000) o zider 3 qufdal 6 Rolé onfdrer 3 orifer Rrafor & sisier & e
uf¥ge &t siiz A ordloidar ofifcera amwea 20 wzast 2001 o &= srRIr 3¢kl aer & 533 FAIDBIR A1 o1 & {5 orifer Femuetn, ornferzeror silz
orifer oo ureuR siRiag 3 siiz orifer fopiivr @1 329w Bt Fiad @ yzped, YoRIgh sterar foRardr &l Ament @l 3 3k sAfere siudd
RIS ISOHferD, ReRIcHD, AR 31 AGTAI2IPR BRiag qar dq onfir 3l & IYTs wsg, D srcurfrpr g toter (2004) o1 Jsma 3 6
orifer fotarfor @ ferg Feaifae ufdf¥erfer 3 ArATGRIA: Accforaivr uz ol fear Sirell aIfdy fboq dddct 2l U2 oct of 31 JI 3IRATH A o1 Bl Jgn
3k 3 foralRril &t Jaftoe Jren onfdrar & FadicRrpiar (FaulaR) ufRaaferl #, ot awl u: far e son @iRe, a 3 :forefia2ur, gd



- cIsIp! Dl forfdap ol 3l FeATGiRI FFCRI D AT IoId! Yol: ThIdbuT 13l Afensil siiz gl @ fere a9y wriga onfie dior aifde

The Brahimi Report on UN Peace Operations and Security Council Resolution is focused on
Ao g orifer sifrRImGil Siik Jren ufug Awcu FHdell qiRen Rl 3 fopr ur get G sk 3 ?

[Question ID = 1688][Question Description = S2_qSNz_PG_DSS_Q98]
1. Conflict Resolution and Peacekeeping Operations/ e et 3iiz oriferzevr sifdrrer

[Option ID = 6749]

2. Human Rights Programmes and Mechanisms/ aieraiférer @rlgs sl dq
[Option ID = 6750]

3. Women, Peace and Security/#if&em, erifer siie Jeem

[Option ID = 6751]
4. Disasmament and demobilisation/forzdiaur iz fSiférctor

[Option ID = 6752]

Correct Answer :-
e Conflict Resolution and Peacekeeping Operations/3ief J9merot 3l oriferzgir sifdrRor
[Option ID = 6749]

4) Read the passage given and answer the questions which follow

Peace-building can be understood as a supplement to preventive diplomacy, peacemaking process, conflict resolution and
peacekeeping operations. It encompasses measures in the context of emerging, current or post-conflict situations for the
explicit purpose of preventing violent conflict and promoting lasting and sustainable peace. In 1992, the UN report ‘An
Agenda for Peace: Preventive Diplomacy, Peacemaking and Peacekeeping’ introduced the term peace-building. The
concept of peace-building was further developed and clarified in a series of subsequent documents, among those the
Brahimi report on UN peace operations and Security Council Resolution 1325 (2000) on women, peace and security. The
latest policy statement on peace-building from the Security Council is the Presidential of 20 February 2001. It recognizes
that peacemaking, peacekeeping and peace-building are closely interrelated and that peace-building is aimed at preventing
the outbreak, recurrence or continuation of violent conflict and therefore encompasses a wide range of political,
developmental, humanitarian and human rights programmes and mechanisms. The UN High-Level Panel (2004) suggests that
peace-building should focus on state building - usually, but not exclusively, in a post-conflict situation. The security
dimension encompasses the security of the country and the personal security of its inhabitants. In post-ceasefire (post-
conflict) situations, some elements that have to be considered are: Disarmament, demobilization and reintegration of ex-
combatants into the local community. This should include special programmes for women and children.

forgotifdsd srerior ot ufeu siiz off U s1w gosil & saz v :

orifer foraator @i forare deofifer, orifer Femuen gitprnsil, Jiud e 3ii= orifeReIvT AfPRIGH & Yz U 3 IS ST JADAI & 33 ISR,
adarer sreran Hadiaz uff¥efer & uf¥gga 3 surr Afserdia aia & Rierat Jruse YRilstal 3re JHad @1 Addr siiz SiHdmifere den Aemofir
91ifel DI IGIAI Soll BIdl & 9lifeiforivT 91sg 1 YRIIeT Usell aR 1992 31 3y reg, Dl Ul 'vol sreisT BRR UlRa @ fydfea BwediRil, dixmifosr us
dirdbiftier 3 fopen srn onfod foriivr bt sraemun @ ¢ Iaradl crardsil B gjzaensii # fawRia iz Fuse fpar srir ot aifden, orifer ik
Fe1 forerT U YD s orifer sifdrrrel sii JRem ufvue Fara 1325 (2000) o ider 3 el & Ralé onfdrer 3 onifer foratfor @ der 3 Jen
ufyeg &1 3iiz A sIdieiaan shifcera awper 20 wadt 2001 @1 & sri sieigfizr avbea 3 3319 TR 0 sri & b orifer Femuetr, erniferzerr siie
orifer fofor ureuR sidRfag 3 siiz orifer foriiur o1 329w RBer Jiad & yzged, Yorigft sierar forazdr & JAwment ol 3 ik sAfere sl
RATUD IsToilicren, ferRIca®, AeIdiR iR AR orRidgdH qar dq 9nfie ald 3 A AU D curferpr Yrd et (2004) o1 Jgsa 3 6
orifer forafor @ fere Jeadfar ufef¥-erfer 3 AraAToRIa: Isgforatior uz &xret f&an sien anfdw fobod dodet 33l u? act o 81 J2GI RIH A I Bl AgN
3z 3ad forail3ril &t Fufpe Fren onfiear 3 AadfirmEiar (Aadlaz) uff¥eferll 3, Rl ardl uz R o son @Ry, d 3 :rediour, gd
- cISTep! Dl forfSapRr ol 3k FeATGiRI IYSRT D AT IoId! Yol: ThIbUT A3 Afensil siiz acdl @ fere a9y wriga onfier dior aifde

The term 'Peace-building’, as per the paragraph, is primarily based on

STErior @ 3eRIR, orniferforfor oreg Iera: smenfsa 3 :

[Question ID = 1689][Question Description = S2_qSNz_PG_DSS_Q99]

A UN report on an agenda for peace/9iifer uois @ a3 2igep s, i Buid [Option ID = 6753]

A Security Council report on preventive diplomacy/forare desfifer & dder 3 IRem ufdug &t fdld [Option ID = 6754]
Security Council Resolution 1325 (2000)/3Ren ufdug imeu 1325 (2000) [Option ID = 6755]

A UN High Level Panel Report (2004) /3R g @ Icarfarpr grd dolel &1 fdid (2004) [Option ID = 6756]

A WN =

Correct Answer :-
e A UN report on an agenda for peace/giifer uals @ Jisitr 3 3gep 2reg bt Buid [Option ID = 6753]

5) Read the passage given and answer the questions which follow

Peace-building can be understood as a supplement to preventive diplomacy, peacemaking process, conflict resolution and



peacekeeping operations. It encompasses measures in the context of emerging, current or post-conflict situations for the
explicit purpose of preventing violent conflict and promoting lasting and sustainable peace. In 1992, the UN report 'An
Agenda for Peace: Preventive Diplomacy, Peacemaking and Peacekeeping’ introduced the term peace-building. The
concept of peace-building was further developed and clarified in a series of subsequent documents, among those the
Brahimi report on UN peace operations and Security Council Resolution 1325 (2000) on women, peace and security. The
latest policy statement on peace-building from the Security Council is the Presidential of 20 February 2001. It recognizes
that peacemaking, peacekeeping and peace-building are closely interrelated and that peace-building is aimed at preventing
the outbreak, recurrence or continuation of violent conflict and therefore encompasses a wide range of political,
developmental, humanitarian and human rights programmes and mechanisms. The UN High-Level Panel (2004) suggests that
peace-building should focus on state building - usually, but not exclusively, in a post-conflict situation. The security
dimension encompasses the security of the country and the personal security of its inhabitants. In post-ceasefire (post-
conflict) situations, some elements that have to be considered are: Disarmament, demobilization and reintegration of ex-
combatants into the local community. This should include special programmes for women and children.

forotifoe srerior @t ufey siiz ofid 3w are yesil @ 3az dfome :

orifer foratior ol forare wgoiifer, orifer Femuetr yfepRmail, Jud aenst iz onferRgvT JMPRIG & Y WU 3 A Sl APl & 3AA ISR,
adarer 3rerar JHadiae aff¥eferl @ uf¥ggn d sur Afserdia s & et Jruse YRilsial 83r® Aad @I Adpdr 3z Sidmifere aen AemoiRa
Tifer oY agTar oIt 3lar 3 erniferforafor ores w1 YRieT Uscdl ar 1992 & iy ey &t Rl "ot seist B Ui : fdfa Rwciaefl, dzeifsst is
dircdbiftier 3 fdpam srRi  9nfod forafur &l sraerRun @I wF IaRadl gIardsll dl 9jxaciaii 3 faPdRIA 3R Futce o sk fSrered aifde, orifer 3l
&M faoRI U= Igep Acq, 9rifer ifIrRIell 3R e uiduc Aarr 1325 (2000) o ider 3 qufdedt o Rulé onfdrer 3 orifer forarior @ Ader 3 Igem
uf¥ug &t siiz A sIdicraa ofifeera amer 20 wast 2001 @ 3 sri sreagikn awboa 3 333t TR o sk 3 fos orifer Femuon, ernifergrr iz
orifer foratior ueuR sidRiag 3 siiz orifer foratior o1 329w & Fiad & yped, gerR@f sre@r forazar &l Awmens dr 3 31 sAafere sd
RIS ISOHferD, fRPRIcHAD, AR 3l AGIAIf2IPR BRI da dq onfir 3l & YT 2usg, D srcurflipr g tolel (2004) o1 Jzma 3 6
orifer forarfor @ fere Jadiar ufef¥erfer 3 AmaTcRa: Isgfomaivr uz &rel fen siren a1f3w foboq dddct 3l U2 act of 81 JGI RAH A I DI J8
3R 3AD forailRral &1 dafepd e onfdicr 3 AadfcREIRR (AaditR) uRiReuieril 3, o1 acdi u= AR Kear sien aifdv, d 3 :forediam=ur, gd
- crs1opl @l foifSap el 3R FeeliR AICGRT O AT IoIdT Yol: Thlpur 3 Afdcrail sk acdl & fore fady wriau onfie glor anfdw

According to the passage, peace-building can be understood as a supplement to

STEN9l @ eRIR, olifeiforiivr @l RpAad gy @ WU 3 A= Sl AP 3 :

[Question ID = 1690][Question Description = S2_qSNz_PG_DSS_Q100]

1. Preventive diplomacy and disarmament/frar® @gsiifer ik foradimur [Option ID = 6757]

2. Peacekeeping processes and arms control/ giiferRevr yfegar 3iiz or¢ foricur [Option ID = 6758]

3. Conflict Resolution and Security Council /e forarur siiz 3pem ufdug [Option ID = 6759]

4. Conflict Resolution and Peacekeeping Operations/ e forarur siiz eriferemr sifdrmer [Option ID = 6760]

Correct Answer :-
e Preventive diplomacy and disarmament/forar® agofifer siik foredia2ur [Option ID = 6757]

Topic:- GP_20NOV_A_SH2

1)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

Arvil 3 f3u o1 sifost & smemr uz Yooll & Iar SIS ¢

forsaiferRaa areufl fip=il firafdencrn 3 eI - 3rcmeT faerll 3 (T-uw) DRz sreaawm] T Yferord dcot 3R eIl del eATfidIsil @ iourd
@ yFdd ol 3 faeafdencr i et sieamaml i e 1600 3 Arvil 3 & oR) sifds! @ IR R Yol 1-5 b D IR S &

3reamuasl I faoRIar |t ©

IIﬁERI aremaepl <ot gferoraarn (% )i iR srenftrepiaii bl gferoraear
| A 13% 1:7




B 18% 5:3
c 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

Total number of teachers in Subject-C is approximately what percent of the total number of female teachers in Subject-D
and Subject-A together?

fererr-C 3 sremaepl bl aget e, faerr-D siie farerr-A 9t aif3aafera su 24 sienftrepisii &t aget e @1 yferora 3 ?

[Question ID = 3626][Question Description = S2_qSNz_PG_GP4_Q01]
1. 58

[Option ID = 14501]
2. 43

[Option ID = 14502]
3. 47

[Option ID = 14503]
4. 51

[Option ID = 14504]
Correct Answer :-
e 58

[Option ID = 14501]

2)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

aroft # fSu 51U sifws] @ smemR uz gesll @ 3a= difsme @

forrarferRaa 1rufl et feraferenert 3 srerer - 3remT foreril 3 (T-uw) BRiA srearu®! @1 gferord dcel 3R [eATUD] dell 3eATfDIsli & 3rofurd
@l yFgd ol 3 feeafdencrn 3 @t sreamaml &f e 1600 3 Arvil 3 R oR) sifs! @ R R Yool 1-5 b D 3mR S &

31EATUD] DI fARIaR et :

frerr reemaast Y yftreraan (% )sieamu st sieenfRrTaii B g
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

What is the difference between the total number of teachers in Subject-F and the total number of male teachers in
Subject-A and Subject-B together?

fererr-F 3 gt siezmaepl &b s SiiR fareri-A e farRr-B 3 wafdafera su A sreamuen] 6t e o dfa fepdon siaR 3 ?
[Question ID = 3627][Question Description = S2_qSNz_PG_GP4_Q02]



1. 192

[Option ID = 14505]
2. 182

[Option ID = 14506]
3. 146

[Option ID = 14507]
4. 136

[Option ID = 14508]
Correct Answer :-
e 192

[Option ID = 14505]

3)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

arufl d fSu s1u sifws] @ smeR U gesll & 3a= difsme @

forsaiferRaa areufl fip=il firafderncrn 3 eI - 3rcme1 faerll 3 (T-uw) DRIz sreAawm] &I Yfeiord dcol 3R eIl del eATfpIsil @ iourd
@I yIgd @il 8 faeafener 3 @e sreamael of A 1600 & ARl # 621 3R sifps! @ MR R Yool 1-5 b D IR S :

31eAUD] DI fARIaR dear :

13% 1:7
18% 5:3
12% 1:3
21% 3:4
14% 9:5
22% 7:9

Rrerr areemuast B gfererdaar (% )siezmuds 3iiz sl b gferoraan
A
B
o
D
E
F

What is the difference between the number of female teachers in Subject-F and the number of male teachers in Subject-
c?

farerr-F 31 sreanftrastsii b Jzean siir faerr-C 3 sieamaat &b Jizen @ dfa fasdon siaz 3 ?

[Question ID = 3628][Question Description = S2_qSNz_PG_GP4_Q03]
1. 156

[Option ID = 14509]
2. 160

[Option ID = 14510]
3. 150

[Option ID = 14511]
4. 153

[Option ID = 14512]
Correct Answer :-
e 156

[Option ID = 14509]



4)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects |Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

Arvil 3 fSu o1 sifds] B smemrR uz Yooll & IR SIS ¢

forrarferRaa rofl et fraferenert 3 srcrer - srerT foreril 3 (U-uw) BRI srearu! @1 gferord dcel 3R s[eATud] e sieATfireIsii & sfourd
@l yFgd ol 3 [rafdencrn 3 et sreamaml & e 1600 3 ArRvil 3 R oR) ifos! @ R R Yool 1-5 a D3I S &

31EAUD] DI fARIAR dcal :

frerr sreemaast Bt gferoradr (%)sreamads il sreftap1aii ol yferoraar
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

What is the total number of male teachers in the University?

fereafiencrr 3 srearudt bI aer I fbdoft 8 ?

[Question ID = 3629][Question Description = S2_qSNz_PG_GP4_Q04]
1. 696

[Option ID = 14513]
2. 702

[Option ID = 14514]
3. 712

[Option ID = 14515]
4. 668

[Option ID = 14516]
Correct Answer :-
e 696

[Option ID = 14513]

3)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects |Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9




aruft # fSU s1U sifdst @ smeR uz gesll @ 3a= difsme @

forrarferRaa 1rufl et fraferener 3 srerer - 3remT foreril 3 (U-uw) BRRA sreamu®! @1 gferord dcel 3R s[eATud] deir ieATfieIsii & rourd
@l yFgd ol 3 faeafdencrn 3 @t sreamaml &f e 1600 3 Arvil 3 R oR) Sifos! @ R R Yool 1-5 b D IR S &

31EAUD] DI fARIaR dear :

frerr sreemaast 6t gferoradr (%)sreamuds il sreanftrapaii ol yferoraar
A 13% 1:7
B 18% 5:3
c 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

Which is the ratio of the number of female teachers in Subject-E to the number of male teachers in Subject-D?

fererr-E 3 sreanftroptsii bl e @ yierord ot siofurd faeRr-D 3 sreamut bl e o1 fooden 8 ?

[Question ID = 3630][Question Description = S2_qSNz_PG_GP4_Q05]
1. 5:9

[Option ID = 14517]
2.2:9

[Option ID = 14518]
3.3:7

[Option ID = 14519]
4.5:3

[Option ID = 14520]

Correct Answer :-
e 5:9
[Option ID = 14517]

Topic:- GP_20NOV_B_SH2

1) The variability or flexibility of delivery during the presentation of a lesson by a teacher is called as

Uh EATUD HRI U6 D YIcilapur & SRRiol yzgfer @& uf¥aderofierar srerar sia=rar @1 fas21 3u 3 siren sirer 3 ?

[Question ID = 3631][Question Description = S2_qSNz_PG_GP4_Q06]
1. Thinking curriculum/Rider urgerager [Option ID = 14521]

2. Instructional variety/siféifer fafderar [Option ID = 14522]

3. Comprehension/zm@mst [Option ID = 14523]

4. Procedural knowledge/yferieare siret [Option ID = 14524]

Correct Answer :-

e Thinking curriculum/Rider urgerapsr [Option ID = 14521]

2) Ministry of Education, Government of India's, SWAYAM platform for offering MOOCs has how many quadrants for
designing courses?

3R IRDR D IS IR FRI Aarfera wa3iL3iL AL (MOOCs) ygral @20t 3q Ta& (SWAYAM) 3ia @ 1i @l dollol (3sisfoitr) o fere
feperor ageis 3 ?

[Question ID = 3632][Question Description = S2_qSNz_PG_GP4_Q07]
2 Quadrants/2 agefe [Option ID = 14525]
4 Quadrants/4 agefa [Option ID = 14526]
6 Quadrants/6 agefe [Option ID = 14527]
8 Quadrants/8 agefaw [Option ID = 14528]

A w N =

Correct Answer :-
e 2 Quadrants/2 aqefe [Option ID = 14525]

3) Given below are two statements



Statement I: All components of working memory are in place by the age of 4 in a child as a development stage

Statement Il: If a child does not continue to pay attention to information, the activation level weakens and finally drops so
low that the information cannot be reactivated and it disappears altogether

In light of the above statements, choose the most appropriate answer from the options given below

ofi <1 Dot Ru sme 3 :

®eel - | : PRI & saven & U 3 4 ad &I 33 D arce I fppmefiar Fgfer & efl Ted a6t Feurer Uz 3 3

e - |l : Jaomsii @ gfer Afe vd dIcre cPIdaR &aT6l 618l &I, dl IFRUT FAR DI BIdI 3 iR sfod 3 sl BR sirar 3 &5 o @t gor:
Scyfea o8t R st Awar ik @16 yuizu A fagy a8t sirar 3

WP Dl @ sMelid 3, ofid T a1 frapeul 3 A I8 IR @ TRIaT HifSre :

[Question ID = 3633][Question Description = S2_qSNz_PG_GP4_Q08]

Both Statement | and Statement Il are correct/@emt | 3z Il cloif 28 & [Option ID = 14529]

Both Statement | and Statement Il are incorrect/aermr | 3iiz |l Si6il steta & [Option ID = 14530]

Statement | is correct but Statement Il is incorrect/aerer | 3@t 8, fbog weret |l sieta & [Option ID = 14531]
Statement | is incorrect but Statement Il is correct/a@erwt | steia 8, fdboqg @erwet |1 3t & [Option ID = 14532]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are correct/wmemt | 3i |1 cleli 2@ & [Option ID = 14529]

4) Match List | with List Il

Neural system of BrainType of Memory

A. Conscious I. Implicit Memory
B. Unconscious Il. Procedural Memory
C. Motor skills lll. Explicit Memory

D. Own experiences |IV. Episodic Memory
Choose the correct answer from the options given below:

It -1 Bt e -1l A gakma B

oxeht - | oxett -1

(e D1 syier Fieieh cieg) (zafér gor)

A. Aot I siafoffda Fgfer
B. srieol Il. orifaftre Fgfer
C. Gofiar wioret (e Roc) Ill. Jgorep Fgfex
D. smcamepya IV. B Tgfr

ofla 3w o1 el 3 A At W= gfom :
[Question ID = 3634][Question Description = S2_qSNz_PG_GP4_Q09]

1. A-1IV,B-1ll, C-1, D - Il [Option ID = 14533]
2. A-1Il,B-1,C-1I,D- IV [Option ID = 14534]
3. A-1,B-1I,C-1V, D - Ill [Option ID = 14535]
4. A-11,B -1V, C-1ll,D- | [Option ID = 14536]

Correct Answer :-
e A-IV,B-Ill,C-1,D- Il [Option ID = 14533]

5) Cognitive domain for behavioural objectives comprises which of these objectives?
A. Evaluation

B. Valuing

C. Comprehension

D. Precision

E. Knowledge

Choose the correct answer from the options given below:
RIGERAI! 32931 @ fru IsioicaH® &1 3 $of 39l I Aafaree fapan srar 3 ¢
A. geaiwot

B. e forerfzur @on

C.



D. remefar
E. siot
oii<l feu are fameal 3 A Al = ol ©

[Question ID = 3635][Question Description = S2_qSNz_PG_GP4_Q10]
1. A, Band Conly/daa A, B, C

[Option ID = 14537]
2. B, C and D only/dae B, C, D

[Option ID = 14538]
3. A, Cand Eonly/aaa A, C, E

[Option ID = 14539]
4. C,Dand Eonly/aaa C, D, E

[Option ID = 14540]

Correct Answer :-
e A, Band Conly/adaa A, B, C

[Option ID = 14537]

6) During research when we avoid speculative and metaphysical approaches and instead concentrate on studying
observable facts, it is called:

olter & SIIel Sid &3 MHRAHD i difcads zfiedIvll A g 3 3 YeiRr ael uz earer dfoga wd & dl A forsoifeiRaa 3 A o= war siar 3

[Question ID = 3636][Question Description = S2_qSNz_PG_GP4_Q11]
1. Feminism/amtars [Option ID = 14541]

2. Ethnomethodology/srsuferfdsirer [Option ID = 14542]

3. Constructionism/zizaeicadar [Option ID = 14543]

4. Positivism/forzrmcaaar [Option ID = 14544]

Correct Answer :-
e Feminism/amiarg [Option ID = 14541]

7) In research, the combination of different methods, study groups, local and temporal settings, and different theoretical
perspectives in dealing with a phenomenon is called:

fep21t uf¥acen @ Jder 3 ORI B WRI oNer 3 fiffiool UglerIl, 3r¢RIeT AeEl FereiiRI SR SRl RiGRIRIl & HRilstel &I @ad 3 :
[Question ID = 3637][Question Description = S2_qSNz_PG_GP4_Q12]

1. Triangulation/fgister [Option ID = 14545]

2. Content analysis/ferer 2mmf faecswur [Option ID = 14546]
3. Corpus/@rda [Option ID = 14547]

4. Mediation/a@zrear [Option ID = 14548]

Correct Answer :-
e Triangulation/festet [Option ID = 14545]

8) Identify the CORRECT sequence of steps for the centroid method of factor analysis
A. Work out the sum of coefficients in each column of the correlation matrix

B. Compute a matrix of correlation

C. Obtain the Sum (T) of columns

D. Divide the sum of each column by the square root of (T)

Choose the correct answer from the options given below

Bac? feasyur & Do ught @ fere wcdl @ Adlaw &I usare @3 :

A. s34 dARTA D YD PIctd I Il P APTwe forapret

B. Jgider @ dAfead &t sron o3

C. ore3l @1 Aerwd (T) gra o3

D. Y@ BIciH @ Aerwe ot (T) & aelger A fRenfra o2

il f3u a1e fyaseul 9 A W& 3= goi ¢

[Question ID = 3638][Question Description = S2_qSNz_PG_GP4_Q13]



1. A, C, D, B [Option ID = 14549]
2. C, B, A, D [Option ID = 14550]
3. B, A, C, D [Option ID = 14551]
4. B, C, A, D [Option ID = 14552]

Correct Answer :-
e A, C, D, B[Option ID = 14549]

9) Match List | with List Il for scale construction techniques

List | List Il

A- I. Number of individual items are developed into

Arbitrary a test which is given to a group of respondents
approach

B.

Consensus |Il. Scale is developed on an ad-hoc basis
approach

C. Item Ill. Chosen on the basis of their conforming to

Analysis  |some ranking of items with ascending and
approach |descending discriminating power

D. .
. [IV. Panel of Judges evaluate the items chosen
Cumulative . .. .
for inclusion in the instrument
scales

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera Hifsre :

et -1 et -1

A. arefcas ||, 1cTe1-31cT91 AGT &I IR DI U urs A fashlha s sirar 3
efdcapior Y Sazcransit & s @1 e Sirar 3

B. rdasara

Il. acef smenrz uz tammar @) farsf¥ra foven sirar &

C. 6 fereaduvr (ll. IRIEL Siik SraRIdl Riomrl o1ftp Afda @ #ci &I gultaur
efSemlur Bl sroIBUAr @ MER UR TRIfold

D. it IV. ferae 3 onfdrer oot D fére gofl 31 ISt DI FeAidor DI D
Neiciy fere fororizranl @1 otcr

oiil f¢u are famedl 3 A A8 3R gforu :

[Question ID = 3639][Question Description = S2_qSNz_PG_GP4_Q14]
1. A-N,B-1,C-1,D-1IV

[Option ID = 14553]
2. A-1l,B-1V,C-1,D-1I

[Option ID = 14554]
3.A-1,B-1l,C-1I,D-1IV

[Option ID = 14555]
4. A-IV,B-1,C-lIl,D-1I

[Option ID = 14556]

Correct Answer :-
e A-IIlLB-Il,C-I,D-1IV

[Option ID = 14553]

10) Given below are two statements
Statement I: The base of the binary number system is 2.
Statement Il: Binary addition is just like decimal addition except that the rules are much simpler.

In light of the above statements, choose the correct answer from the options given below

ofla o @veret feu a1e 3 ¢



@l - | fgamemst Jiwen guireht o1 smenz 2 3

@l - || : fgsmenst eI, goicHd Sils @ Hdol 8l 3ldr 3 R¥arI sad 5 forma bl Jza 3
SWRITP Pl @ el , ofld 3w s1e el 3 A A8l Iar I a6t HifSte :

[Question ID = 3640][Question Description = S2_qSNz_PG_GP4_Q15]

Both Statement | and Statement Il are true/emr | siz |l Gl6il a1 & [Option ID = 14557]

Both Statement | and Statement Il are false/@emt | 3iiz |1 Gloil 3Rt & [Option ID = 14558]
Statement | is true but Statement Il is false/erme1 | 3 8, fboq @eret |l sRicr & [Option ID = 14559]
Statement | is false but Statement |l is true/mepol | sRI=I € , fbog el |l A= & [Option ID = 14560]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are true/epr | sl |l Gleil 21 & [Option ID = 14557]

11) More and more informal exchanges within a group to resolve conflicts is an example of

Tp3dl DI AHIETG] Dol D e v 3p D sfiar 31ferp A siferp seiluan¥e MCTe-ygIel 361801 3 -
[Question ID = 3641][Question Description = S2_qSNz_PG_GP4_Q16]

. Vertical communication/3eaferz 3iuur @1 [Option ID = 14561]

. Horizontal communication/ it 2wt @1 [Option ID = 14562]
. Risk communication/siif3aer 2iguur a1 [Option ID = 14563]

. Personal communication/dzfepe 2iwur a1 [Option ID = 14564]

A W N -

Correct Answer :-
e Vertical communication/3eaferz 3iuur @1 [Option ID = 14561]

12) Which of the following are identified as verbal communication skills?
A. Use of aggressive language

B. Assertiveness

C. Opening feedback channels

D. Taking credit for oneself

E. Use of affirmative words

Choose the correct answer from the options given below:

forrarferRaa & A fpardhl usarel aifers AYyvI BigreT @ Hu 3 &l Sl 3

A. MMRIDB HIET BT GABT

B. smoyfgar

C. BIsd® @ ol BT Yraeiel

D. =i &l 9 ot

E. FdioRica® 91t o1 GRIBT

ofid fou a1 el 3 2 8t STz gl ¢

[Question ID = 3642][Question Description = S2_qSNz_PG_GP4_Q17]

. A, Band Conly/dqet A, B siiz C [Option ID = 14565]
. B, Cand D only/asaet B, C siiz D [Option ID = 14566]
. C, D and E only/daea C, D siiz E [Option ID = 14567]
. B, Cand E only/dsaet B, C siiz E [Option ID = 14568]

A wWw N =

Correct Answer :-
e A, Band Conly/dact A, B 3iiz C [Option ID = 14565]

13) Given below are two statements
Statement I: Body language is the basis of deceptive communication.
Statement II: Non-verbal cues have their own shared meanings.

In light of the above statements, choose the correct answer from the options given below

ofiY 31 werot R a1 3 :
Dol - | : AIDRID MIYT, YD HTST DI MER Bkl 3
@2l - |l : dr-aifer AdSdl ot 3raelr ArsH 3ref Jrar 3



SURITP Dol D 3Tl 3, ofldl f&u s1u frseul 3 A 13 3= @1 w61 HifSte ¢
[Question ID = 3643][Question Description = S2_qSNz_PG_GP4_Q18]

1. Both Statement | and Statement Il are true/wemet | 3z || gloll 31 & [Option ID = 14569]

2. Both Statement | and Statement Il are false/@ermr | 3iiz |l iaif sricr & [Option ID = 14570]

3. Statement | is true but Statement Il is false/@eml | 31 & , fbog et |l s & [Option ID = 14571]
4. Statement | is false but Statement |l is true/everm | sRIc @ , fboq @ere || 3 & [Option ID = 14572]

Correct Answer :-
e Both Statement | and Statement |l are true/@emwr | 3iR 11 Gleil 31 & [Option ID = 14569]

14) ldentify the CORRECT sequence of categories of grapevine communication
A. Cluster chain

B. Probability chain

C. Gossip chain

D. Single strand chain

Choose the correct answer from the options given below

SlelydrG AYHUT &t YR B A8l @ bl usarea @3 ©

A. J3g odcn

B. dstrerar gjzaen

C. sra9mu 9jzen

D. gwa ¥is gfzdct

ofid fou a1 el 3 2 A8t ST gt ¢

[Question ID = 3644][Question Description = S2_qSNz_PG_GP4_Q19]

B, C, D [Option ID = 14573]
C, D, A [Option ID = 14574]
, C, B, A [Option ID = 14575]
D, A, B [Option ID = 14576]

A wWwN -

’

Correct Answer :-
e A B, C, D[Option ID = 14573]

15) Match List | with List Il

List | List Il

Categories of communication Features

A. Lateral I. Touch communication

B. Haptics Il. Between equals

C. Semantics Ill. Interpretation of signs

D. Semiotics IV. Concerned with meanings|

Choose the correct answer from the options given below:

et -1 B e -1l A g i

Rret -1 oreht -l

(iguoT IYforeT) (Froreramd)

A. aiffds |. Iguor Fuef

B. uef fasirer Il. Jorpeil @ dfa Agyur
C. srelgza Ill. Fid>di &I e

D. JAidfern IV. srelf 3 Adifdra

il fou s1e frseul 3 3 A IR gfor ©
[Question ID = 3645][Question Description = S2_qSNz_PG_GP4_Q20]

A-11,B-1,C-1V, D - lll [Option ID = 14577]
A-1ll,B-11,C-1,D- IV [Option ID = 14578]
A-1V,B-1Il,C-1l, D - | [Option ID = 14579]
A-1,B-1V,C-1ll, D - Il [Option ID = 14580]

A W N -

Correct Answer :-
e A-Il,B-1,C-1V,D-Ill [Option ID = 14577]

16) What comes next in the following sequence?



8,6,4.5, 3.5, ___

8, 6, 4.5, 3.5 @ srgJaye I 3IEIC Dlol-AT 3D oM ?

[Question ID = 3646][Question Description = S2_qSNz_PG_GP4_Q21]
1. 1/1 [Option ID = 14581]

2. 2/2 [Option ID = 14582]

3. 2.5/2.5 [Option ID = 14583]

4. 3/3 [Option ID = 14584]

Correct Answer :-

e 1/1 [Option ID = 14581]

17) X has one and a quarter times as many as Y, and Z has one and a quarter times as many as X. Altogether, they have 61.
How many do Z, Y and X have, respectively?

XD urt Y @I a1 31611 3 3R Z & a1 X &I 3@l 3fell 3 A 1fl & ura Alafera su A 613 Z, Y sk X @ urd agier: fpaot 3 ?
[Question ID = 3647][Question Description = S2_qSNz_PG_GP4_Q22]

25, 16, 20/25, 16, 20 [Option ID = 14585]
20, 16, 12/20, 16, 12 [Option ID = 14586]
25, 20, 16/25, 20, 16 [Option ID = 14587]
16, 20, 25/16, 20, 25 [Option ID = 14588]

A wWw N -

Correct Answer :-
e 25,16, 20/25, 16, 20 [Option ID = 14585]

18) Showing the man in a photo, Kavita said, "He is the brother of my uncle's daughter".

How is the man realted to Kavita?

TP BIA A v AP @l [$¥rd gu @iddr of @sl, ds A arar &l 9¢t of " 3 3 s A oldar oI g fyear 3 ?

[Question ID = 3648][Question Description = S2_qSNz_PG_GP4_Q23]
1. Nephew/sidis [Option ID = 14589]

2. Cousin/@xr am$ (wfdrer) [Option ID = 14590]

3. Uncle/arar [Option ID = 14591]

4. Son/gq [Option ID = 14592]

Correct Answer :-
® Nephew/sicfts [Option ID = 14589]

19) Given below are two statements
Statement I: In one minute, the minute hand of a clock gains 5° over the hour hand.

Statement Il: If both the minute and hour hands start moving together from the same position, both the hands will coincide
after 64 minutes.

In light of the above statements, choose the correct answer from the options given below

il Q1 perel feu s 3 :

@l - | : v Bierc 3 et Slar ast &l fere &t J3, &@e 6t Jg$ A 5° 3mel ag St 3

el - || : af Brore siiz &@e &l Fgsat o 3 Frerfer 3 31 agolr 9 @l & Al Slell Azl 64 o aG uw, gad A fckl
JURITP Dol B 3Tl 3, ol fSu 31u fameul 3 A A8 3= @1 T=Iol HifSTe &

[Question ID = 3649][Question Description = S2_qSNz_PG_GP4_Q24]

1. Both Statement | and Statement Il are true/@emwt | aiiz 1| Sleil aca & [Option ID = 14593]

2. Both Statement | and Statement Il are false/a@erwt | siiz |l Qleil sRicr & [Option ID = 14594]

3. Statement | is true but Statement Il is false/memwer | A1 8, fbog @eret |l sRie & [Option ID = 14595]
4. Statement | is false but Statement |l is true/ermel | sRIcI 8 , fboq @ere |l 31 & [Option ID = 14596]

Correct Answer :-
e Both Statement | and Statement Il are true/aermr | siiz |l greif 31 & [Option ID = 14593]

20) Consider the following statements:
A. A single discount equivalent to three successive discounts of 10%, 20% and 25% is 46%

B. A mobile is sold for ¥14500 at a loss of 20%. The cost price of the mobile is T18225.

o I TR T S T T S R T R Y s T4 T d
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Choose the correct answer from the options given below:

e sifisyl R faR &

A. U@ gR H 1 713 46% DI ¢, dF aR H &1 713 10%, 20% 3R 25% Fel & sa 8

B. U TIETSd @ 20% @1 811 U 14500 ¥ H &1 91T &, Alalsd &I AN Jcd 182253 &
D. e &1, s Jea 1 L@ i ey 28% €

i feu U fasmedl H 9§ 98l SR 94 -

[Question ID = 3650][Question Description = S2_qSNz_PG_GP4_Q25]
1. Aand B only/@act A siiz B [Option ID = 14597]

2. B and C only/daaer B siiz C [Option ID = 14598]

3. Aand C only/d@aet A siiz C [Option ID = 14599]

4. Aonly/daer A [Option ID = 14600]

Correct Answer :-
e A and B only/daet A siiz B [Option ID = 14597]

21) In the context of uses of language, which of the following is the fallacy that pertains to the relationship between a
person's beliefs and his circumstances?

forgatfcriRaa 3 A dlol-AT AD S 3 Sl caftb @ faeardl siiz ufxiFefcrl @ dia JAder I =Ib ddar &

[Question ID = 3651][Question Description = S2_qSNz_PG_GP4_Q26]

1. Argumentum and Baculum (force)/smfdica 6s dqetat (oiep) [Option ID = 14601]

2. Argumentum ad Hominem (circumstantial)/smefdics os alfdorer (uRfRerfesio) [Option ID = 14602]
3. Argumentum ad lgnorantiam (ignorance)/smsfdicdt Bs sseiRferel (st=ieidr) [Option ID = 14603]

4. Argumentum ad Verecundiam (authority)/smefdica ssd@fSe (qifiipr) [Option ID = 14604]

Correct Answer :-
e Argumentum and Baculum (force)/smsfdicar 6s dagetat (91fep) [Option ID = 14601]

22) If 'Some members are not voters' is false in a square of the opposition of proposition, which of the following code can
be correctly picked

A. 'All members are voters' is false
B. 'Some members are voters' is true
C. 'All members are voters' is true
D. 'No members are voters' is true

Choose the correct answer from the options given below:

a® arasil & RRiel oot i afe "o wAcra Aqacrar oél 3" srica 3, dl forFerfeifRaa 3 2 b1 @ o1 A8} Ale ST ADr 8
A. "0l Ic AacKr 8 3RIT 3

B. "®® Ac Adcrdr & AcA 8

C. "l A6 AcI 3" A 3

D. "I A Hacrar oidl &' Aea &

il f3u a1e fraseul 9 2 W& 3a= goi ¢

[Question ID = 3652][Question Description = S2_qSNz_PG_GP4_Q27]

A and D only/a@act A siiz D [Option ID = 14605]
A and B only/d@act A 3iiz B [Option ID = 14606]
B and C only/adqet B sfiz C [Option ID = 14607]
C and D only/dsaet C siiz D [Option ID = 14608]

A w N -

Correct Answer :-
e Aand D only/aqet A siiz D [Option ID = 14605]

23) Which of the following codes correctly represents the figure and mood of the argument?

All businessmen are self-confident



No self-confident men are religious
Therefore, No religious men are businessmen

Choose the correct answer from the options given below

fogotferRaa wiol-A1 G awaraRT @ PR 3R PR Bl A3t 3U 3 YIdd or 3 :
aeft cmurd) srca-frarft A 3

sred-fopart AM3a @1 off cafep enfdfes ol ian

safere o1f oft enfifes cafts carardt orél alar

[Question ID = 3653][Question Description = S2_qSNz_PG_GP4_Q28]
1. AEE - IV

[Option ID = 14612]
2. AEE - |

[Option ID = 14609]
3. AEE- Il

[Option ID = 14610]
4. AEE - Il

[Option ID = 14611]

Correct Answer :-
o AEE - |
[Option ID = 14609]

24) The knowing self knows objects through the instrumentality of the sense organs (Indriyas) but the existence of Indriya
is proved by

Sire sfogl I ABRIAT A UgIedl & dR # SIGIPRI Yrd Bl 8 sfogal @I 3iided YIvId o Sirar 8 fordol 3 A b GRI &

[Question ID = 3654][Question Description = S2_qSNz_PG_GP4_Q29]
1. Anumana Pramana/sfete gommr gra [Option ID = 14613]

2. Sabda pramana/erss gamr gt [Option ID = 14614]

3. Arthapatti Pramana/sterfufer grer [Option ID = 14615]

4. Upamana Pramana/3ustrel ggmr g1 [Option ID = 14616]

Correct Answer :-
® Anumana Pramana/smeirel gemmvr gt [Option ID = 14613]

25) Which form of knowledge is NOT derived through the instrumentality of other knowledge?

Silol @ fobA Fa>U Bl 3161 Silel Bl AGRIAT A YIH oId) b Sirer 3

[Question ID = 3655][Question Description = S2_qSNz_PG_GP4_Q30]
1. Perception/grast [Option ID = 14617]

2. Inference/smoptet [Option ID = 14618]

3. Word-testimony/ers ggmor [Option ID = 14619]

4. Comparison/3usret [Option ID = 14620]

Correct Answer :-
® Perception/ygret [Option ID = 14617]

26) In respect of computer software, features of a typical operating system include:
A. The interface-allowing communication between the user and the computer

B. Memory management-allocating internal memory (RAM) to programs and data in use and retrieving and storing data on
the external memory devices

C. Resource handling-controlling peripheral devices (input and output devices) and handling user requests for peripheral
devices

D. Internet access-providing connectivity to the services on the Internet

Choose the correct answer from the options given below:



PRI ATTeA3R o der i v gfifeitre smfter Rrea &t fidruarsit 3 frafiRaa enfirer A 3

A. R $caBd - GRITDI @ BRI D S AYWT b srgpefer Sar 3

B. 3318t gdtrel - GRIeT 3 38 Qiojwel 3R siicpst @ 1w sidf¥es Jeist (312 © war) T 3irdco Siiz arat At 3arsAT WR 3iiwst &t Yol:gafir
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C. Jarerol FsIcron - ufelRr 3arsAl (so1yge a sn3eyc 3arsA) I forifeld wen a uf¥dl Sarsil @ fére gRITPT 3rgR1ell DI HsHIcTol

D. scvole uga - $eolc U= A4 D RRI AuS ygrel Bel

ofla fou o1 fraseul 3 31 & 3a= goi ¢

[Question ID = 3656][Question Description = S2_qSNz_PG_GP4_Q31]

A, C and D only/dsaet A, C siiz D [Option ID = 14621]
B, C and D only/a@act B, C siiz D [Option ID = 14622]
A, B and C only/d@ac A, B siiz C [Option ID = 14623]
A, B and D only/@aet A, B 3iiz D [Option ID = 14624]

A W N -

Correct Answer :-
e A, Cand D only/dact A, C siiz D [Option ID = 14621]

27) Match List | with List Il

List | List 11

(Description) (Appropriate Technical Term)

A. Authoring language used to create
documents to be viewed on the World |Il. Browser
Wide Web

B. Computer that responds to requests
to provide information and services Il. HTTP
over the Internet

C. Defines how messages are
transmitted and formatted over the Il. HTML
Internet

D. Software that enables users to
access/view documents and other IV. Internet server
resources on the Internet

Choose the correct answer from the options given below:

et -1 B e -1l A @ i

et -l et -1l

(foraror) (Supep aaselibl ug)
A. Staydic Fellel @ feru cisdsl feraell BRI acs arss |

A4 U= 3T S -
B.mmwwweﬁamﬁQmmﬁ"'m&aﬁ

(DI IR ol dIcl PRICT

C. $colc UR giRIfdIc ud Widle Blel drel JRISIST Bl i &

Poafi . TA.éLuA.TeL
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Bile g1? JA1erGil DI YaIA/ S0l D WA Folidl BX

il fou s1e frseul 3 3 A IR gfor ©

[Question ID = 3657][Question Description = S2_qSNz_PG_GP4_Q32]
1. A-lILB-IV,C-1,D-1l

[Option ID = 14625]
2. A-1,B-1V,C-1I,D- 1l

[Option ID = 14626]
3. A-IV,B-1Il,C-1,D-1

[Option ID = 14627]
4. A-11,B-1V,C-1I,D-1

[Option ID = 14628]

Correct Answer :-



e A-IIlLB-IV,C-1,D-1l

[Option ID = 14625]

28) Arrange the following optical storage devices in decreasing order of their storage capacity
A. DVD

B. CD-ROM

C. Blu-Ray

Choose the correct answer from the options given below

TSI BARKEL B Ted aa i Polifed R RasA @ =raf¥ea bifse:

A. Sdtd.

B. :fi.3L. - 3o

C.s13

offa fou s1u fyeseul 3 21 & 3a= goi ¢

[Question ID = 3658][Question Description = S2_qSNz_PG_GP4_Q33]

C, B, A [Option ID = 14629]
C, A, B [Option ID = 14630]
B, C, A [Option ID = 14631]
A, C, B [Option ID = 14632]

A W N -

Correct Answer :-
e C, B, A [Option ID = 14629]

29) Given below are two statements
Statement I: An operating system controls peripherals, and allocates memory and processor time.
Statement IlI: An operating system provides Internet access.

In light of the above statements, choose the correct answer from the options given below

ofiI &1 perer Ru sme 3 :

@erel - | @ v sifaefest Rivear aftbzcar @l forafoqa @wear 3, 3iik AR ik YRR AR DI Mol BT &
@l - |l : v sifmfesr Rizcar $evdic ValA Yglol @l &

SWRIFP Poll D 3MIelld #, ofld 3w s1e el 3 A A8l Ia? @I wrI6t HifSte :

[Question ID = 3659][Question Description = S2_qSNz_PG_GP4_Q34]

Both Statement | and Statement Il are true/wserwr | aiiz |l Sioit 3er & [Option ID = 14633]

Both Statement | and Statement Il are false/@ermr | 3iiz |l Staif sRicer & [Option ID = 14634]
Statement | is true but Statement Il is false/@emol | a1 @ , fboq @eret |l sRI=r & [Option ID = 14635]
Statement | is false but Statement Il is true/memwr | sRicI & , fboq et || A= & [Option ID = 14636]

A W N -

Correct Answer :-

e Both Statement | and Statement |l are true/@emr | 3iR 11 Gleil 31 & [Option ID = 14633]

30) Which of the following is the appropriate GUI (Graphical User Interface) component used to select one from multiple
alternatives?

forgatifeea 31 A Dol WY YIS, (et Yo $ewA) aced & il ag faaedl 3 A v @I gotol A YT o= sirar 3

[Question ID = 3660][Question Description = S2_qSNz_PG_GP4_Q35]

1. Scroll bar/¥@jet @z [Option ID = 14637]

2. Push button/ger @eot [Option ID = 14638]

3. Progress bar/qwRt arz [Option ID = 14639]
4. Radio button/3f=0 gcat [Option ID = 14640]

Correct Answer :-
e Scroll bar/¥®fer @ [Option ID = 14637]

31) Which one among the following diseases is NOT caused due to exposure to ultra-violet radiation?

forgoiferRaea 3 3 Dlol-AT ABT URT Jorell BT Ysiiae! @5 BRI o1&l aXr & ?
[Question ID = 3661][Question Description = S2_qSNz_PG_GP4_Q36]



Bronchitis/eariereft oter [Option ID = 14641]
Melanoma/dcrsitar [Option ID = 14642]
Ocular damage/aiq gifer [Option ID = 14643]
Erythema/camfepan [Option ID = 14644]

A WN -

Correct Answer :-
® Bronchitis/eardorctt oiter [Option ID = 14641]

32) Match List | with List Il

List | List Il
f
Class of water Example/Explanation
pollutants
A. Disease-causing I. Organic wastes decomposed by aerobic
agents bacteria

B. Oxygen depleting

Il. Acids, salts, compounds of toxic metals
wastes

C. Inorganic plant

. lll. Bacteria, protozoa, worms etc.
nutrients

D. Water-soluble IV. Water-soluble nitrates and phosphate cause
inorganic chemicals |excessive growth of algae etc

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

et | eht -1l
STl YgHl oI ot 31801 / IR
A. JPTSTol> DRD |. argsildl sfiary gr1 fdafea oo srufdrse

B. sifa=flsiol ®a w2 ara

1. , , fouars 31t @ AfID
e 31&cT, CIAul EJ10s ¢

C'tﬁaﬁﬁammlll.sﬁm@qaﬂm(cﬁaaﬂm)agﬁlsmﬁ

cIca
D. stet 3 geratofter IV. Siet 3 gerorofia arsee 3iiz Wivwe diard senfe
Brepreifored ARG I aifer giig @ &

offc feu oru fpedl 3 A 3l 3R gfore :

[Question ID = 3662][Question Description = S2_qSNz_PG_GP4_Q37]
1. A-1,B-Iv,C-1l,D-1l

[Option ID = 14645]
2. A-1,B-1I,C-1,D-IV

[Option ID = 14646]
3. A-1LB-1,C-1V,D-Il

[Option ID = 14647]
4. A-IV,B-11,C-1I,D-I

[Option ID = 14648]

Correct Answer :-
® A-I,B-IV,C-Il,D-1ll

[Option ID = 14645]

33) Given below are two statements
Statement I: Nitrification results in an increase in effluent ammonia toxicity
Statement Il: Denitrification reduces nitrate to nitrogen gas using bacteria

In light of the above statements, choose the most appropriate answer from the options given below

il Sl Dol iR sre 3 ¢
Dol - | : afd:3yra &1 sEiforn furpar d giy sisdia?ur o ufyvre 3
@Yol - || : [Rensdiavr # Sfiarvy oI geT @2 olis¢e Pl slisgisiol 91 3 IUARM @ &



SURITb Dol D 3Icllid H, ofldd U s1e famcul 3 A Jl IR BI wRIal HIferw :
[Question ID = 3663][Question Description = S2_qSNz_PG_GP4_Q38]

1. Both Statement | and Statement Il are correct/epera | 3z |l Sieil 2t & [Option ID = 14649]

2. Both Statement | and Statement Il are incorrect/eret | 3z || Sloil stera & [Option ID = 14650]

3. Statement | is correct but Statement Il is incorrect/@emwr | 3@t 8, fbog @eret |l srera & [Option ID = 14651]
4. Statement | is incorrect but Statement Il is correct/@erw | s @ , fpoq e |l 3@t 8 [Option ID = 14652]

Correct Answer :-
e Both Statement | and Statement Il are correct/@em | 3iiz | cleif 3t 8 [Option ID = 14649]

34) Flotation is a unit operation, used in wastewater treatment to
A. Remove the lighter suspended solids

B. Concentrate biological sludge

C. Remove oil and grease

D. Remove the temporary hardness of the water

Choose the correct answer from the options given below:

teIdol U $I$ foapn 3 Sraast suriler srufdrse Siet A o= g @l d fdvar sier 3:
A. sftia forcifea oY1 ucrelf @I serol

B. 1ig Sifdbi sme Hlas @ fere

C. de 3iiz 3f1 (3ffsr) @t e 3

D. Stet @ sRerfl wokRdr @I sl d

offa fou s1u fyeseul 3 21 & 3= goi ¢

[Question ID = 3664][Question Description = S2_qSNz_PG_GP4_Q39]

A, B and C only/a@act A, B afiz C [Option ID = 14653]
B, C and D only/daet B, C siiz D [Option ID = 14654]
A, B and D only/asaet A, B aiiz D [Option ID = 14655]
A, B, Cand D/A, B, C 3liz D [Option ID = 14656]

A WN -

Correct Answer :-
e A, Band C only/aac A, B siiz C [Option ID = 14653]

35) Match List | with List Il

List | List Il
Ozone depleting substanceName

A. C3HF7 I. HCFC
B. C2FH;3Cl; Il. Halons
C. CoF4Cly lll. HFC
D. CF3Br IV. CFC

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

Rxeht -1 gl
Bifsilel gifa ucref Sie

A. C3HF7 I. HCFC
B. C,FH;3Cl; Il. 3ciioa
C. C2F4Cl2 lll. HFC
D. CF3Br IV. CFC

oifa feu aru fasedl 3 A A8 3R gforo :
[Question ID = 3665][Question Description = S2_qSNz_PG_GP4_Q40]

A-1,B-1Il,C-1l,D - IV [Option ID = 14657]
A-1ll,B-1,C-1V, D - Il [Option ID = 14658]
A-11,B-1V, C-1ll, D - | [Option ID = 14659]
A-1V,B-1l,C-1,D - Il [Option ID = 14660]

A w N -

Correct Answer :-
e A-I,B-Ill,C-Il,D-IV[Option ID = 14657]

36) The country which has the highest number of higher education institutions is:



g oI SIel Uz Sod 118 Izl &l wafféres e 3 :

[Question ID = 3666][Question Description = S2_qSNz_PG_GP4_Q41]
1. India/smea [Option ID = 14661]

2. China/der [Option ID = 14662]

3. USA/gwre [Option ID = 14663]

4. Russia/z2 [Option ID = 14664]

Correct Answer :-
e [ndia/smea [Option ID = 14661]

37) Arrange the following in chronological order of their occurrence
A. Hartog Commission

B. Sadler Commission

C. Macaulay's Minutes

D. Sargent plan

E. Wood's Despatch

Choose the correct answer from the options given below

forgaifeiRaa @Y So1d> 3106l A PITGAGRIR afded Hifsre

A. BIcher 3mRIeT

B. AscR ARSI

C. diral origa (Reica)

D. wrsie wison  (tetrer)

E. gs B¥a

il fou s1e fraseul 9 3 & 3a= goi ¢

[Question ID = 3667][Question Description = S2_qSNz_PG_GP4_Q42]
C, E, A, B, D [Option ID = 14665]

C, E, B, A, D [Option ID = 14666]
CEB
G, B, E

A
, D, A [Option ID = 14667]
A, D [Option ID = 14668]

A W N -

>

Correct Answer :-
e C, E, A B, D[Option ID = 14665]

38) Which of the following are NOT statutory bodies?
A. NAAC

B. NMC

C. NCERT

D. AICTE

E. NCTE

Choose the correct answer from the options given below:

forgotferfRaa 3 A oo A Aifafrs foror 3 :

A. NAAC

B. NMC

C. NCERT

D. AICTE

E. NCTE

il f3u a1 fraseul 9 A W& 3= goi ¢

[Question ID = 3668][Question Description = S2_qSNz_PG_GP4_Q43]

. A and B only/dact A siiz B [Option ID = 14669]

. Cand D only/daet C siiz D [Option ID = 14670]
. Aand C only/daer A siiz C [Option ID = 14671]
. D and E only/@aet D iz E [Option ID = 14672]

A w N =

Correct Answer :-



® A and B only/@act A 3iiz B [Option ID = 14669]

39) UGC is established for:

A. Promoting research and innovations in higher education in the country

B. Coordination, determination and maintenance of standards of university education

C. Increasing access to higher education in the country

D. Disbursing grants to the universities and colleges

E. Serving as a vital link between the Union and State governments and institutions of higher learning

Choose the correct answer from the options given below:

3 St 2ft 6t Ferruen o Toa & e gF 3 ?

A. Zor 3 Ica e 3 sigpiend ik staydcdell &l aerar Jol

B. fareafdemcrit f31gm @ eIl ®I WtoaIa, forerfzur stz S¥asmar

C. Tor 3 Ica fAren ae ugd I dGTel

D. fraféencril 3iiz Sicsil oY sigicloll @l faruT wee

E. 3@ aen s IRERI SR I fOren siffemr Ferrsl & dia dstayul odt & wu i Aar Ygrel a6l
ofi o s1u fesedl & A A8 IR BT WRI6l HIRIU :

[Question ID = 3669][Question Description = S2_qSNz_PG_GP4_Q44]

A, Cand E only/@aet A, C 3l E [Option ID = 14673]
A, B and C only/d@aet A, B siiz C [Option ID = 14674]
A, B, C and D only/ddaet A, B, C siiz D [Option ID = 14675]
B, D and E only/@ae B, D siiz E [Option ID = 14676]

A W N -

Correct Answer :-
e A, CandE only/aaa A, C aiiz E [Option ID = 14673]

40) Match List | with List Il

List | List Il

A. AICTE |l. Promotes research in Philosophy

B. ICHR [ll. Promotes research in History

C. ICPR |lll. Promotion of quality in Technical Education
D. ICSSR |[IV. Promotes research in Social Sciences
Choose the correct answer from the options given below:

It -1 Bt e -1l A gakma Hifde

oxeht - | el -1l

A. AICTE |. coforom 3 3rcIRieiel Bl dGTol

B. ICHR Il. sfereRI 3 3IeieNsl DI aGIol

C. ICPR 11, aapotichl o181 bl SUTaTI DI SGIar Soll
D. ICSSR IV. srnfSies farsiell 3 siofRienst ®f aGiell

il fou o1e fyscul 3 A At IR gfom :
[Question ID = 3670][Question Description = S2_qSNz_PG_GP4_Q45]

A-1ll,B-1I,C-1,D - IV [Option ID = 14677]
A-1ll,B-1I,C-1V, D - | [Option ID = 14678]
A-11,B-1ll,C-1,D- IV [Option ID = 14679]
A-1V,B -1, C-1ll, D - | [Option ID = 14680]

A w N =

Correct Answer :-
e A-IlIl,B-IlI,C-1,D-IV[Option ID = 14677]

Topic:- GP_20NOV_C_SH2

1) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic



restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, ‘immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.
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The concept of social exclusion is multidimensional because of:

ATHISID SfECDR DI FTEMRUI b DRUI A Jg3IrRIeEd 3 :

[Question ID = 3671][Question Description = S2_qSNz_PG_GP4_Q46]

1. multiple groups to focus on/fifder el we dfga [Option ID = 14681]

2. variations in deprivations/ddeir @ ¥au 3t fieorar [Option ID = 14682]

3. the prevalent notion about social outsiders/mafSics =u 3 @rsdt clisll & ar 3 yafera sraemzon [Option ID = 14683]
4. social statuses across nations/2iguf Sor 3 Jmnfrp Rerfer [Option ID = 14684]

Correct Answer :-
e multiple groups to focus on/fafeer wEl w dfga [Option ID = 14681]

2) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: 'the new industrial poor’, 'immigrants’,
‘ethnic groups’, 'single parents', among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.
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The new reflection on social exclusion has emerged from

A afdsbr U= o - Ridel @waf A Icusol g3 3 ?

[Question ID = 3672][Question Description = S2_qSNz_PG_GP4_Q47]

The industrialisation process in Europe/Ru 3 sitelsftaszur yfepen [Option ID = 14685]

The arrival of new scholarship in sociology/meIsiony ¥ oR! Uif$eI (IPrerRism) @I el [Option ID = 14686]
The technological impact on societies/3m@msil w2 adofiht ysma [Option ID = 14687]

The changes in the nature of social inclusion/mfSis el @ Fasu & dcerra [Option ID = 14688]

A w N =

Correct Answer :-
e The industrialisation process in Europe/3RIu 3 sielsfias2ur gfegan [Option ID = 14685]

3) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: 'the new industrial poor’, 'immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.
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The post-industrial society and economic restructuring have contributed for
IR - 3iENBe e iR snffe Yorizaen o e feru Areret & & ?

[Question ID = 3673][Question Description = S2_qSNz_PG_GP4_Q48]

The reconsideration of employment issue/3IsEIR 38 W yeifdare [Option ID = 14689]

Strategies aimed at social integration/3mufSie wdblm2ur &q cférd wehferRil [Option ID = 14690]
Fragmentation of welfare state/@wcmurpEl 3w &1 @ [Option ID = 14691]

Social disintegration into new deprived groups/sra dfra wjel 3 Awnfse fausar [Option ID = 14692]

AW N =

Correct Answer :-
® The reconsideration of employment issue/3spIR 3 W yerfdar [Option ID = 14689]



4) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: 'the new industrial poor’, 'immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.
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The scholarship on social exclusion has gone beyond
AfeIe afdspr uifdca (FaicrPd) s3ad W S gor 3 ¢

[Question ID = 3674][Question Description = S2_qSNz_PG_GP4_Q49]
1. The reach of governments/3r®r! 61 uga [Option ID = 14693]

2. The conventional thinking/wwer A [Option ID = 14694]

3. The normal issues of deprivation/dden @ mwie 35 [Option ID = 14695]

4. Common perspectives of inclusion/w@mdsrel @ Amweier ufsygn [Option ID = 14696]

Correct Answer :-
e The reach of governments/3R®RI &t uga [Option ID = 14693]

5) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: 'the new industrial poor’, 'immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.
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The concept of social exclusion is now
ARSI bR 6 EId STenn 3

[Question ID = 3675][Question Description = S2_qSNz_PG_GP4_Q50]

1. The focus theme of Europeans/zRIdfr clislf w2 e famrr (efter) [Option ID = 14697]

2. Anissue of developmental capability/fd@ricae® mere @1 7g1 [Option ID = 14698]

3. A commodity for export from the North to the South/3w= 3 gfdr &t @=w foriia @ fére azg [Option ID = 14699]

4. Universal in character, going beyond the western hemisphere/dfq® Fawu areft, ufRweft sitemef 3 as? Suedt g [Option ID = 14700]

Correct Answer :-
e The focus theme of Europeans/=Rdl eiell ue @i fawrr (efler) [Option ID = 14697]





